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INEPEJMOBA

B yMoBax 3MiH, 110 Bif0yBalOTbCA y CUCTEMI BUILOI OCBITH YKpaiHU
Ha Cy4aCHOMY eTali, npouec BUKJIaJ[aHHS iHO3eMHHUX MOB /I MauOyTHIX
daxiBIiB HOPUAUYHUX CIHELiaJIbHOCTEW XapaKTepU3YETbCS MNOCTIKHUM
3POCTAHHSIM POJIi Ta 3HAYEHHS CAMOCTIMHOI pOOOTH CTY/IEHTIB.

30/IbIIEHHS YaCTKU CaMOCTiMHOI poOOTH HalliJleHO Ha PO3BUTOK
TBOPYHUX 3/1iOHOCTEN CTYAEHTIB, NMiIBUIleHHS IX MOTHBAIlil Ta CIPUSIHHA
PO3BUTKY He JiMlle IX JIIHFBICTUYHMX 3HaHb, aje W YCBiJOMJIEHHS
BiZIMMOBIIa/IbHOCTI CTYZ€HTIB 100 OTPUMaHHs 3HaHb. lle € HeoOXiAHOWO
CKJIaZlOBOIO dbopMyBaHHA MaKOyTHIX daxiBIiiB IOPUJUYHUX
CHeliaJibHOCTEH y rajy3i BUKJAJaHHS iHO3eMHOI MOBU 3a NpodeCciniHUM
COpSAMYBAaHHSAM, 3/IaTHUX CaMOCTIMHO Ta TBOPYO BUpillyBaTH 3aBAAaHHS,
1110 IIOCTAKTh lepes HUMU.

HaByasbHHM NOCIOHUK AJ1S1 CAMOCTIMHOI pOOOTH 3 aHIJIIMCbKOI MOBU
3a nNpodeciiHUM CnpsIMyBaHHSM O00OOB’S3KOBOI 3arajbHOI MiITOTOBKU 3a
OCBiTHBO-IpodeciiHOo0 nporpamMoto «IIpaBo» migroToBKM 3700yBayviB 3a
nepmwiuM (6aka/JaBpCbKUM) piBHEM BMIOI OCBITH y rany3i 3HaHb 08
«[IpaBo» 3a cneuianbHicTIO 081 «IlpaBo» cKJageHO BiANOBIAHO [0
cuabycy Ta po6o4yoi mporpaMyd 3 aHIJIIKCbKOI MOBU 3a NpodeciiHUM
COpsIMyBaHHAM, po3pobJsieHuXx y YepkacbkoMmy iHCTUTYTI imeHi [epoiB
YopHobuasa HallioHa/ibHOTO YHIBEPCUTETY LIMBIJIBHOTO 3aXUCTY YKpaiHU.

[locibHUK npu3HaYeHUH AJ CTYAEHTIB 4 Kypcy [leHHOI Ta 3a04HOI
¢opmu HaBuyaHHd UIIIB imeni I'epoiB YopHoouasa HYL3 Ykpainu Ta Mmoxe
6yTu BUKopucTaHnuil y 3BO YkpaiHuy, sIKi rOTyl0Tb MalOYTHIX IOPUCTIB Ta
¢daxiBILiB IPaBOOXOPOHHUX OPraHiB.

[lepmia 4yacTMHa NOCIOHMKA - aBTEHTHUYHI TEKCTH, B OCHOBHOMY
IODUAUYHOIO CIPAMYBAHHA, 10 € TUIOBUMU 3aBJAaHHAMH YaCTUHU
«YUTaHHA» €AMHOr0 BCTYNHOTO iCIUTY 3 aHIJIIMCbKOI MOBHU /Il BCTYILY Ha
HaBYaHHA [l 3100y TTS CTyIeHs MaricTpa.

Y Apyrié 4acTUHI NOCIOHUKA MICTATbCS JIEKCUYHI TECTH, BAKOHAHHS
AKUX [JOMNOMOXe BJOCKOHAJIMTU IepekjaJalbKi HaBUYKU Ta Kpalle
Ni3HATU 0COOJIMBOCTI aHTJIIMCbKOI JIEKCUKU.

TpeTs d4actuHa mnocibHHMKa cPOKycoBaHAa Ha TIpaMaTUYHOMY
MaTepiasi, 6e3 3HaHHS $SIKOrO0 HEMOXXJMBO 3HATH iHO3eMHy MOBY Ha
BUCOKOMY PiBHI Ta BUKOHATH 3aBJlaHHA Yy YaCTUHI «BUKOpUCTAaHHA MOBHU»
€IUHOTO BCTYMHOrO IiCNMUTY JJid BCTYNy Ha HaBYaHHSA [AJsd 3700yTTs
CTyIleHA Maricrpa.



TEXTS FOR READING

Task 1. Read the text below. Match choices (A-H) to (1-5). There
are three choices you do not need to use.

Corporal Punishment in Modern Schools of the USA

1.

School corporal punishment, which typically involves striking a child
with a wooden board or paddle, is currently legal in public schools in 19
U.S. states. More than 160,000 children from 36,942 public schools in all
4,460 districts in these states were disciplined using corporal punishment
in the United States in this school year, according to data released by the
U.S. Department of Education.

2.

Schoolchildren were punished with corporal punishment for a range
of behaviours, varying from serious incidents like setting off fireworks in
school, to minor behaviours like use of cell phones and not completing
homework. In states where corporal punishment is legal, it can be used on
children of all ages. Punished children had to seek medical attention such as
treatment for bruises, hematomas, broken bones, and nerve and muscle
damage.

3.

The Supreme Court ruled in 1977 that school corporal punishment
was constitutional. At that time, only two states had banned corporal
punishment in public schools. In 2016 a total of 31 states have banned it
from public schools. Juvenile crime has not increased in states that have
removed corporal punishment from schools.

4.

Hitting an animal to the point of injury is a felony in most U.S. states,
hitting a child to the point of injury as punishment in a public school is
exempt from child maltreatment laws in most states where corporal
punishment in schools is legal. This means that, in some states, a behaviour
that would be considered abuse when inflicted by a parent on a child cannot
be prosecuted if inflicted by a school employee.

5.

There are widespread disparities in the administration of corporal
punishment by race, gender, and disability status. For example, in Alabama
and Mississippi, Black children are at least 51% more likely to be corporally
punished than White children in over half of school districts. In eight states,
boys are five times more likely to receive corporal punishment than girls in
at least 20% of school districts. Children with disabilities are over 50%

5



more likely to be corporally punished than their nondisabled peers in many
southeastern states. A 2009 Human Rights Watch publication found that
school administrators sometimes use corporal punishment on children for
behaviours that stem directly from their disability, including those common
to autism and Tourette syndrome.

A Contradictions in the US Legislation

B The Disproportionate Use of Corporal Punishment

C Alternatives to Punishments Intended to Cause Physical Pain

D Governmental Data on the Ongoing Use of Physical Punishment in
the USA

E Students’ Academic Performance and Corporal Punishment

F Judicial Attitude to Physical Punishment

G Proper Application of Corporal Punishment

H Corporal Punishment and Its Effect on Child Wellbeing

Task 2. Read the text below. For questions (6-10) choose the
correct answer (A, B, C or D).

Twitter as a Powerful Tool in Forecasting Crime

“My initial hypothesis was that there would be no correlation
between Twitter use and crime. After all, people don’t share with the world
that they intend to or have just committed a crime,” said University of
Virginia Professor of Systems and Engineering Information Matthew
Gerber. “What they do share are things like social events or outings that
could lead to criminal activity.” Gerber chose Twitter over other social
media platforms for its openness and the fact that anyone can access GPS-
tagged tweets generated in a given area.

His statistical method involved collecting more than 1.5 million public
tweets tagged with Chicago-area GPS coordinates spanning January to
March of 2013, as well as crime records covering the same period and
geographic area. After dividing and mapping out tweets and crime records
onto a grid and identifying common topics of discussion (e.g., sports,
restaurants, and entertainment) appearing in tweets, Gerber combined
conclusions from this analysis with older forecasting models to predict
crimes over the next month. The result of his combined method was more
precise, accurately predicting 19 out of 25 crime types.

“Some cities that utilize such methods as a basis for resource
allocation have seen dramatic decreases in crime,” said Gerber. As for the
causal connection between tweets and crimes, Gerber admits his method
cannot answer that. Even so, it is gaining attention from police departments
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all over the United States, including Chicago and New York City. His work
could further assist departments in resource allocation, deciding where and
when to deploy officers.

Gerber co-directs UVA’s Predictive Technology Laboratory, which
uses data to create predictive models with the goal of promoting better
decision making. In addition to applying models to the field of policing, the
lab is also conducting research in other important fields like health care and
the military.

6. What was the first reaction of Professor Matthew Gerber to the
idea of using Twitter for forecasting crime?

A He believed that Twitter due to its openness was an effective tool.

B He recognized its potential because anyone could access this social
media.

C He could not expect that there was relationship between tweets and
crime prediction.

D He agreed that social events or outings could not lead to criminal
activity.

7. According to the second paragraph, which of the following is
true?

A Older forecasting models were of no use for the new research.

B On reading tweets Professor Gerber could accurately predict the
geographic area of future crimes.

C Identifying only criminal topics of discussion in tweets Professor
Gerber forecast crimes.

D In his studies the researcher dealt both with criminal records and
tweets.

8. What were the consequences of applying new prediction
methods?

A Crime rate declined significantly.

B It proved that there was no causal connection between tweets and
crime.

C Police departments showed lack of interest in these methods.

D New research was used to test police offices.



9. What does the word “it” in bold (paragraph 3) refer to?
A casual connection

B Professor Matthew Gerber’s method

C resource allocation

D tweets and crime

10. What is Predictive Technology Laboratory specialization?
A [t promotes better decision making.

B It focuses only on creating predictive models.

C It is characterized by multifaceted nature of its activity.

D It deals exclusively with applying models to the field of policing.

Task 3. Read the texts below. Match choices (A-H) to (11-16).
There are two choices you do not need to use.

11. This law course will help you to understand these complex legal
issues by teaching you basic norms governing armed conflicts, also known
as “International Humanitarian Law” (“IHL”).This course provides
essential theoretical and practical knowledge for students, researchers and
academics who wish to specialize in this field. It is also dedicated to
professionals, including members of NGOs, involved in armed conflict
situations, or members of armed forces.

12. Fundamentals of Business Law. This course reviews important
principles found in business law. It explains principles of business law in a
clear and easy to understand way. The course also covers topics such as
legal requirements, legal recommendations, financial status, taxation, and
liability related to these principles. This free online course will be of
interest to business professionals and students of law who would like a
greater knowledge and understanding of laws relating to business and
commerce.

13. Introduction to Contracts in Law. This free online course
reviews the elements which make up a contract and reviews a scenario
about how a contract can be breached if one or more of the parties involved
do not fulfill their part of the agreement. Resolving broken contracts in the
form of damages is also discussed. It will also be of interest to the average
lay person who wishes to clearly understand the implications of having a
written contract should they wish to enter into a legal agreement with
another party.

14. Introduction to Copyright Law in America. This free online
course is an introduction to copyright law as practised in the United States.
The course reviews the structure of copyright under federal law, the basics
of legal research and legal citations. It examines copyright and its
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applications in the music and broadcasting industries, and looks at legal
cases involving examples such as Napster, Grokster and peer-to-peer file
sharing services. It also reviews software licensing, and the General Public
License and free software. The course is designed for professionals and law
students.

15. The Adversary Trial System. This second installment of the free
legal studies course examines the court and trial system in detail and
explores various civil and criminal procedures in the context of real-world
case studies. This course is a useful information to law students who wish
to learn and understand the role law plays in modern society and the
intricacies of the justice and court system.

16. Laws and the Judicial System. This free online law course
presents the learner with a basic introduction to the world of legal studies.
The lessons explore the definition of law and the role it plays in society, the
differences between civil and criminal law and how various laws evolve
over time. The course is an ideal study-aid for law students who wish to
acquaint themselves with the fundamentals of legal systems.

According to the advertisements which law course ?

A provides elementary concepts of law and legal process

B is connected with the law of only one country

C develops interdisciplinary knowledge and skills

D is designed not only for professionals and law students but also for
non-professionals

E deals with legal framework that regulates the conduct of war

F allows students to gain expertise in general management practices

G is about the law governing the dealings between persons in
commercial matters

H is a part of a free legal studies course

Task 4. Read the text below. Choose from (A-H) the one which best
fits each space (17-22). There are two choices you do not need to use.

Northern Irish Police Raid Women’s Homes
in Crackdown on Abortion Pills

As abortion is a criminal offence in Northern Ireland, where women
face (17) .Police in Belfast have carried out a number of raids for
abortion pills.

It is estimated that more than a thousand women each year travel to
Great Britain for terminations. However, Northern Irish women
(18) on the National Health Service, despite (19)
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and they instead must pay for private procedures. Activists say this means
low-income women are increasingly unable to travel and are instead buying
abortion pills online and taking them at home in Northern Ireland.

A number of prosecutions have recently been taken against women in
Northern Ireland. Last April, a 21-year-old woman (20) after
she experienced an unplanned pregnancy when she was 19. She told the
court she tried to raise money in time to travel to England for an abortion
but could not afford to do so and instead ordered pills online and
performed an abortion on herself at home. Another Northern Irish woman
is currently awaiting trial, (21) her 15-year-old daughter to
access abortion pills.

In November 2016, Belfast High Court found that Northern Ireland’s
abortion laws are (22)

A are not entitled to free abortions

B a breach of international human rights legislation

C life in prison for having the procedure

D being strictly against anti-abortion legislation

E was found guilty of committing an abortion

F being UK taxpayers

G beneficial health effects for both mothers and infants
H charged with helping

Task 5. Read the text. Choose the paragraph of the text
corresponding to each statement:

A Innocent people can be imprisoned.

B The justification is given for compromising the principle that people
ought not to be kept in prison without being given a fair trial.

C An alternative policy has been adopted in a European country.

D Suspected terrorists can stay in jail indefinitely.

E Some intelligence reports that often form the basis for the arrest of
suspected terrorists are far from perfect.

The Rule of Law: a Victim In the War Against Terrorism?

1. If the police in the UK or the USA receive information alleging that
someone is connected somehow with a terrorist organization, they can
arrest the person and hold him in a prison cell indefinitely.

2. Suspects have been locked up for years like this, without being
taken to court and tried and without even being told why the authorities
suspect that they are terrorists.
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3. This contravenes one of the basic principles established over the
centuries in our legal systems. There may be a number of people the
government would like to lock up or execute or deport but if there is
respect for the rule of law it will have to gather the evidence and prove its
case in court.

4. Instead, it is argued that when you have someone who may be
plotting to Kkill hundreds of thousands of people, you don't want to take any
risks, even when it means trampling on a few long-established principles.

5. The problem is many innocent people are locked up along with the
few individuals who are determined to wreak havoc.

6. One of the reasons why it happens concerns the intelligence reports
that are usually the basis for the arrest.

7. Some experts say they have seen reports which were little more
than gossip - reports which relied, for instance, on unproven allegations.

8. Is there an alternative approach?

9. In Sweden, when the government debated the issue of whether to
detain terrorist suspects without a proper trial or to maintain the high
standards of their legal system, they chose the latter.

10. When evidence was lacking they adopted the policy of releasing
suspects and then keeping them under constant surveillance.

Task 6. Read the text. Choose the paragraph of the text
corresponding to each statement:

A Three different suppliers will most likely be involved in the
production of apple’s new iPhone screens.

B Companies are making bigger display screens because consumers
are using phones for things they used to do on their laptops.

C Apple’s new screen will be bigger, compared to the old one.

D Apple is competing against a South Korean company.

E Not all the suppliers are in Japan.

Apple Inc To Increase Screen Size On iPhones

1. Apple Inc plans to use a larger screen on the next generation
iPhone and has begun to place orders for the new displays from suppliers in
South Korea and Japan.

2. The new iPhone screens will measure 4 inches from corner to
corner. That would represent a roughly 30 per cent increase in viewing
area, assuming apple keeps other dimensions proportional.

3. Apple has used a 3.5 inch screen since introducing the iPhone in
2007.
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4. Early production of the new screen has begun at three suppliers:
Korea’s LG Display Co LTD, Sharp Corp and Japan Display Inc, a Japanese
government-brokered merger combining the screen production of the
companies.

5. It is likely all the screen suppliers will get production orders from
Apple, which could begin as soon as June.

6. That would allow the new iPhone to go into production as soon as
August, if the company follows its own precedent in moving from orders for
prototypes for key components to launch.

7. Apple’s decision to equip the next iPhone with a larder screen
represents part of a competitive Response to Samsung Electronics Co Ltd.

8. Samsung unveiled its top-of-the line Galaxy smartphone with a 4.8-
inch touch-screen and a faster processor earlier this month.

9. With consumers becoming more and more comfortable using
smartphones for tasks they once performed on laptops, like watching video,
other smartphone manufacturers have also moved toward bigger displays.

10. A report in March by a South Korea business newspaper said
Apple would use a “retina” display on the next iPhone, the same technology
in its latest iPad that enhance image quality.

Task 7. Read the text. Choose the paragraph of the text
corresponding to each statement:

A The balance of power concept was believed to sustain peace.

B Some states attempt to revise the existing international order.

C Diplomacy is a form of power.

D There used to be two poles in the international system.

E There is a theory suggesting some states take advantage of others.

Concepts in International Relations

1. International relations are often viewed in terms of levels of
analysis. The systemic level concepts are those broad concepts that define
and shape an international environment.

2. The concept of “power” in international relations can be described
as the degree of resources, capabilities, and influence in international
affairs. It is often divided up into the concepts of “hard power” and “soft
power”.

3. Hard power relates primarily to coercive power, such as the use of
force, and soft power commonly covers economics, diplomacy and cultural
influence.
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4. Polarity in international relations refers to the arrangement of
power within the international system. The concept arose from bipolarity
during the Cold War, with the international system dominated by the
conflict between two superpowers. The collapse of the Soviet Union led to
“unipolarity”, with the United States as a sole superpower.

5. Several theories of international relations draw upon the idea of
“polarity”.

6. The balance of power was a concept prevalent in Europe prior to
the First World War, the thought being that by balancing power blocs it
would create stability and prevent war.

7. Hegemonic stability theory also draws upon the idea of polarity,
specifically the state of unipolarity. Hegemony is the preponderance of
power at one pole, and the theory argues this is a stable configuration
because of mutual gains by both the dominant power and others in the
international system.

8. Many advocate that the current international system is
characterized by growing interdependence, the mutual responsibility and
dependency on others.

9. Dependency theory is most commonly associated with Marxism,
stating that a set of core states exploit a set of weaker periphery states for
their prosperity.

10. States can be classified by whether they accept the international
status quo, or are revisionist seeking to fundamentally change the rules and
practices of international relations, feeling disadvantaged by the status quo.

Task 8. Read the text. Choose the paragraph of the text
corresponding to each statement:

A The UN emerged on the basis of another organization.

B The UN aims at promoting cooperation between the countries.

C The UN member states provide financial support to the
organization.

D The UN activities are determined by a special document.

E Not all the countries of the world are members of the UN.
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The United Nations

1. The United Nations (UN) is an international organization whose
stated aims are to facilitate cooperation in international law, international
security, economic development, social progress and human rights issues.

2. The UN was founded in 1945 to replace the League of Nations, to
stop wars between nations and to provide a platform for dialogue.

3.In 1945, representatives of 50 countries met in San Francisco at the
United Nations Conference on international organisation to draw up the
United Nations Charter.

4. It has six official languages: Arabic, Chinese, English, French,
Russian, and Spanish.

5. United Nations Day is celebrated on 24 October.

6. The Charter is the constituting instrument of the United Nations,
setting out the rights and obligations of Member States, and establishing the
organisation’s organs and procedures.

7. The purposes of the United Nations, as set forth in the Charter, are
to maintain international peace and security; to develop friendly relations
among nations; to cooperate in solving international economic, social,
cultural and humanitarian problems and in promoting respect for human
rights and fundamental freedoms; and to be a centre for harmonizing the
actions of nations in attaining these ends.

8. There are now 192 member states. The organisation is divided into
administrative bodies, primarily: The General Assembly, The Security
Council, The Economic and Social Council, The Secretariat and The
International Court of Justice.

9. The programmes, funds and agencies have their own governing
bodies and budgets, and set their own standards and guidelines. Together,
they provide technical assistance and other forms of practical help in
virtually all areas of economic and social endeavour.

10. The UN is financed from assessed and voluntary contributions
from member states which are assessed on a scale approved by the General
Assembly.

Task 9. Read the text. Choose the paragraph of the text
corresponding to each statement:

A One of the techniques of negotiations involves convincing the other
side by degrees.

B Negotiation is an important means of solving conflicts.

C Negotiators are usually experts in a particular area.

D Negotiations are common in everyday life
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E In addition to the conflicting parties, negotiation can involve a
neutral participant.

Negotiations

1. Negotiation is a dialogue intended to resolve disputes, to produce
an agreement upon courses of action, to bargain for individual or collective
advantage, or to craft outcomes to satisfy various interests.

2. It is the primary method of alternative dispute resolution.

3. Negotiation occurs in business, non-profit organisations,
government branches, legal proceedings, among nations and in personal
situations such as marriage, divorce, parenting, and everyday life.

4. The study of the subject is called negotiation theory. Those who
work in negotiation professionally are called negotiators.

5. Professional negotiators are often specialized, such as union
negotiators, leverage buyout negotiators, peace negotiators, hostage
negotiators, or may work under other titles, such as diplomats, legislators
or brokers.

6. Negotiation typically manifests itself with a trained negotiator
acting on behalf of a particular organisation or position.

7. It can be compared to mediation where a disinterested third party
listens to each side’s arguments and attempts to help craft an agreement
between the parties.

8. It is also related to arbitration which, as with a legal proceeding,
both sides make an argument as to the merits of their “case” and then the
arbitrator decides the outcome for both parties.

9. “Cherry picking” is used primarily in purchasing negotiations,
although the principles are applicable to many other situations. In essence,
the purchaser examines the proposals of several potential vendors, picks
out the best components, and then tries to negotiate based upon their
“ideal” proposal.

10. Salami sausages are eaten a slice at a time, they would be
indigestible if taken in a single large piece. This aspect has led negotiators
to use salami tactics for a negotiating technique that tries to do just that: to
win concessions in small doses (slices) when the other party would
probably reject them if they were put on the table all at once.
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Task 10. Read the text. Choose the paragraph of the text
corresponding to each statement:

A The salami technique is confined to only one type of negotiations.

B One needs to be very confident to win salami-style negotiations.

C Salami tactics involves more than one stage.

D You can resort to salami tactics when purchasing, e.g. vehicles.

E To be successful in salami tactic you must push for a collective
agreement.

Salami Tactics

1. Some negotiators just love to play tactical games. If the union
negotiators decide to use the salami tactic they will present just one of their
demands for discussion and push hard to reach agreement on it.

2. Let’s say they focus on a 6 % pay rise and after a long discussion
they agree on 4 %. That’s just the first slice of the salami and there is a
whole sausage yet to come.

3. The next slice of salami might be to try to implement the pay deal
earlier than usual. Whatever happens to the timing of the pay deal they
have yet another slice of salami waiting - the holiday arrangements.

4. And so the slicing of the salami sausage continues: private health,
pension, canteen, allowances, and so on.

5. The salami is not restricted to management-union negotiations.
Any negotiator who has a list of things on which they want to gain
agreement can use it.

6. Try it when you next buy a car. Are you buying just one item, the
car? Or are you gaining agreement on several things: buying the car, filling
the petrol tank, replacing worn tires if it's a used car, a free service next
year ... and whatever else you can think of.

7. So, what do you do if you are on the receiving end and the other
party tries to salami you? Your first line of defense is to recognize what they
are doing and your second is to put a stop to it.

8. You will need to be assertive about this but the response is quite
straightforward. The salami tactic works because the person being sliced
does not recognize what is happening. Once you do, you can fight it.

9. How? Simply refuse agreement on any one slice until you have
everything out on the table. Once everything is out in the open put forward
a proposal on a collective agreement - bundle the lot together.

10. Then the discussion can begin in earnest and you can now bring
out your negotiating skills. Continue like that until you are happy with the
deal, then close.
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Task 11. Read the text. Choose the paragraph of the text
corresponding to each statement:

A Use of the Internet enables epidemics of diseases to be controlled in
poor countries.

B The Internet provides people with a source of information, so they
can make their own choices in life.

C A company’s telecommunications bill demonstrates how
information and communication technology can cut costs.

D Important issues that need to be addressed include improving
computer sKkills.

E An international organization has submitted a distance learning
scheme in Africa which depends on ICTs.

Information technology

1. Information and communication technologies (ICTs) can benefit
the two-thirds of humanity in a number of ways.

2. First, there are the economic advantages of these technologies.

3. One small company from Tanzania replaced $20 faxes with 10 cent
e-mails and saw its telecommunications bill go from over $500 per month
to $45 per month.

4. Health services also benefit from ICTs.

5. Using the Internet, doctors can keep up with the latest
developments in their field as well as seek help from their peers.

6. Throughout Africa, for instance, individual cases of meningitis are
tracked over the internet so that epidemics can be stopped early.

7. ICTs can make it easier to reach a broad segment of the population
in education too.

8. The African Virtual University is a project which is partly financed
by the World Bank and uses satellites to broadcast televised courses to
students who communicate with teachers by e-mail and telephone.

9. In addition, the Internet gives people access to information which
allows them to make informed decisions on subjects that affect their lives.

10. Finally, in order to allow global use of Icts, people need to have
confidence to use this technology as well as practice.
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Task 12. Read the text. Choose the paragraph of the text
corresponding to each statement:

A The disastrous collapse of markets and financial institutions have
been a reality.

B What triggered the breakdown off?

C Mysterious investments are considered less significant.

D Loans are the way to prosperity.

E To understand the essence of leverage you must contrast it with
investment.

Leverage

1. In 2008 the world financial system came close to a complete
meltdown. No one wants a repeat of that terrible crash, but how can a
repeat be avoided?

2. In the first instance we need to understand what brought us to the
brink - what we were doing wrong during the good times that was
unwittingly leading us to the cliff edge.

3. Just what led to the meltdown? Certainly there wasn’t a single
factor that was to blame. From the mid1990s financial institutions were
putting more and more money into new kinds of very risky investments.

4. Some of these investments “like credit default swaps” are very
difficult to understand (the New York Times called them “arcane” in one
article) but the particular investments are a less important factor than the
technique called leverage that was (and is) used to make those investments.

5. Arguably, understanding what leverage is, is the key to
understanding the meltdown.

6. So what is leverage? In essence, it just refers to the practice of
borrowing money to make an investment.

7. To see how it works and to see both how attractive it can seem and
how extremely and how extremely risky it is, let's compare leverage with an
old-fashioned investment.

8. Say you have $20,000 to invest in property. You buy land worth
$20,000. Over a period of time its market value increases by 10 %. You
make $2,000. Not bad. And in the old days you might have been happy with
that.

9. $2,000 is nice, but more would be better, wouldn’t it? So why not
leverage?

10. If you have $20,000 (and if the economy is ticking over quite
nicely) you should be able to persuade a financial institution to lend you a
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lot more. Let’s say you are loaned 19 times your original amount, making
the total sum $400,000. Wow! So you invest $400,000 in property.

Task 13. Read the text. Choose the paragraph of the text
corresponding to each statement:

A The US economic science has a major tendency towards free market
ideas.

B Large firms usually attract their own groups of customers.

C Price reduction does not necessarily bring about more demand.

D Prices are normally fixed either by separate agreement or
associations.

E Regulated price rates are not proved to prevent economic growth.

Free Market

1. Most economists in the United States seem captivated by spell of
the free market. Consequently, nothing seems good or normal that does not
accord with the requirements of the free market.

2. A price that is determined by the seller or for that matter,
established by anyone other than the aggregate of consumers seems
pernicious. Accordingly, it requires a major act of will to think of price -
fixing as both “normal” and having a valuable economic function.

3. In fact, price-fixing is normal in all industrialized societies because
the industrial system itself provides, as an effortless consequence of its own
development, the price-fixing that it requires.

4. Hence a comparatively small number of large firms will be
competing for the same group of consumers.

5. That each large firm will act with consideration of its own needs
and thus avoid selling its products for more than its competitors charge is
commonly recognized by advocates of free-markets economic theories.

6. But each large firm will also act with full consideration of the needs
that it has in common with the other large firms competing for the same
customers. Each large firm will thus avoid significant price cutting, because
price cutting would be prejudicial to the common interest in a stable
demand for products.

7. Most economists do not see price-fixing when it occurs because
they expect it to be brought about by a number of explicit agreements
among large firms; it is not.

8. More over those economists who argue that allowing the free
market to operate without interference is the most efficient method of
establishing prices have not considered the economies of non socialist
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countries other than the United States. These economies employ intentional
price-fixing usually in an overt fashion.

9. Formal price fixing by cartel and informal price fixing by
agreements covering the members of an industry are common place.

10. Were there something peculiarly efficient about the free market
and inefficient about price fixing, the countries that have avoided the first
and used the second would have suffered drastically in their economic
development. There is no indication that they have.

Task 14. Read the text. Choose the paragraph of the text
corresponding to each statement:

A Financial institutions are not very likely to make the headlines.

B The IMF and the World Bank used to play a preventive role.

C The state cuts down on financing some projects.

D TV news is overwhelmed with natural disasters.

E Lower profits and reduced investments are the signs of depression.

Financial institutions

1. Most people who watch the evening news on TV everyday will hear
about every major natural disaster that happens in the world: every
earthquake, every drought, every fatal landslide, every tornado and
hurricane.

2. Rarely will they hear a thing about the two most powerful financial
institutions in the world: the IMF (the international monetary fund) and
the World Bank, and yet these institutions probably have a bigger impact on
the lives of more people than do all those natural disasters that we hear
about so regularly.

3. Here we present a brief introduction to these two institutions - two
institutions that are supposed to be the forces of good in the world, though
they seem to many of us like the true axis of evil.

4. With so many European cities in ruin at the end of World War II the
IMF and the World Bank were set up primarily to finance European
reconstruction. There was also a longer term goal: to ensure that there was
no repetition of the global economic depression that occurred in the 1930’s.

5. (An aside: what does an economic depression look like? It looks like
a downward spiral. For one reason or another companies experience falling
profits so they start to cancel investments and lay off workers.
Unemployment rises and the demand for goods falls.

6. The government’s income from taxes also declines, so publicly
funded projects have to be cut back.
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7. All of this makes it even more difficult for companies to make a
profit so they make more cutbacks and the spiral continues downwards.
This can spread to other countries when they start to suffer a loss of
demand for their exports.)

8. To avoid the spreading downward spiral of another global
depression the idea was that governments could turn to the IMF to borrow
money to help reduce unemployment and maintain demand for consumer
goods whenever a local economic crisis started.

9. The objectives of the IMF and World Bank changed fundamentally
in the 1980’s.

10. Instead of simply providing assistance to market economies that
get into trouble, they became instruments of a much more aggressive drive
to open up new markets around the world that companies in the more
advanced countries could then gain access to and exploit.

Task 15. Read the text. Choose the paragraph of the text
corresponding to each statement:

A Cheaper goods imported in great amounts eventually lower the
living standards.

B The two institutions control by means of certain economic rewards
and punishments.

C The funds provided by the IMF and the World Bank put home
companies at a disadvantage.

D The two organizations pursue the pattern of free market economy
which favours the strongest players.

E The rural area developed owing to the state support in other more
developed countries.

The IMF and World Bank methods

1. At the time of World War II the Third World countries had been the
sole responsibility of their imperial masters. Now, when they got into
trouble and needed foreign loans, the IMF and World Bank stepped in.

2. They had a carrot and a stick. The carrot was the desperately
needed loan. The stick was the threat to withhold the money unless the
country reformed its economy so that big foreign firms could come in and
make money.

3. A key word here is “protection”. All of the more developed
economies used measures such as import controls in the past to protect
their agriculture and industry.
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4. Such controls let companies grow until they are powerful to be able
to compete in the international market.

5. According to the new philosophy there is no excuse for the world's
poorest countries trying to protect their agriculture and industry.

6. If they need foreign loans they must open their markets up to big
foreign companies even though their own companies may have no hope of
competing. In the light of the original philosophy of the IMF this makes no
sense at all.

7. The influx of cheap goods from foreign companies may mean a
slightly lower cost of living for many families but as local companies close
and unemployment rises overall economic activity is likely to fall and levels
of poverty will rise.

8. In effect these two agencies have become two of the strongest
proponents of today’s form of globalisation - a process whereby all the
countries of the world are forced to open their markets, thereby
maximising the opportunities for the largest and most powerful companies
in the world.

9. Some people have called the new philosophy of the IMF and the
World Bank “market fundamentalism”. This means an insistence upon free
markets that disregards the consequences for local communities and their
traditional ways of life.

10. Take, for example, the poor African countries that previously
subsidised agricultural activities in remote rural areas. When they needed
help from the IMF they were forced to stop these subsidies and let the local
markets operate without the “distortions” introduced by government
intervention. As a result, incomes in remote rural areas dropped so low that
their communities were no longer viable.

Task 16. Read the text. Choose the paragraph of the text
corresponding to each statement:

A Unemployment consequences are less severe than they used to be
since two people per family are more often employed.

B Some employed people earn so little that their families still live in
poverty.

C Those in forced idleness include, besides the unemployed, both
underemployed part-time workers and those not actively seeking work.

D Unemployment and earnings figures can exaggerate the amount of
economic hardship since earnings may be received from more than one job
per worker.

E Unemployment is a social policy issue.

22



Unemployment statistics

1. How many really suffer as a result of labor market problems? This
is one of the most critical yet contentious social policy questions.

2. In many ways, our social statistics exaggerate the degree of
hardship. Unemployment does not have the same dire consequences today
as it did in the 1930’s when most of the unemployed were primary bread-
winners, when income and earnings were usually much closer to the
margin of subsistence.

3. Increasing affluence, the rise of families with more than one wage
earner, the growing predominance of secondary earners among the
unemployed, and improved social welfare protection have unquestionably
mitigated the consequences of joblessness.

4. Earnings and income data also overstate the dimensions of
hardship. Among the millions with hourly earnings at or below the
minimum wage level, the overwhelming majority are from multiple-earner,
relatively affluent families.

5. Most of those counted by the poverty statistics are elderly or
handicapped or have family responsibilities which keep them out of the
labor force, so the poverty statistics are by no means an accurate indicator
of labor market pathologies.

6. Yet there are also many ways our social statistics underestimate
the degree of labour-market-related hardship. The unemployment counts
exclude the millions of fully employed workers whose wages are so low that
their families remain in poverty.

7. Since the number experiencing joblessness at some time during the
year is several times the number unemployed in any month, those who
suffer a result of forced idleness can equal or exceed average annual
unemployment, even though only a minority of the jobless in any month
really suffer.

8. For every person counted in the month unemployment tallies, there
is another working part-time because of the inability to find full-time work,
or else outside the labor force but wanting a job.

9. Finally, income transfers in our country have always focused on the
elderly, disabled, and dependent, neglecting the needs of the working poor,
so that the dramatic expansion of cash and in kind transfers does not
necessarily mean that those failing in the labor market are adequately
protected.

10. There is only one area of agreement in this debate that the
existing poverty, employment, and earnings statistics are inadequate for
one of their primary applications, measuring the consequences of labor
market problems.
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Task 17. Read the text. Choose the paragraph of the text
corresponding to each statement:

A Purchasers of free-standing appliances are tending to buy more
expensive models.

B Among built-in ovens, the proportion of gas ovens has grown.

C Sales of dishwashers have been influenced by an increase in the
number of types of dishwasher available.

D Cooking appliances account for a higher proportion of built-in
appliances than of free-standing ones.

E Sales of extractor hoods have been affected by trends in sales of
cooking appliances.

Kitchen Appliances Report

1. Growth continued in the market last year, although at a much lower
rate than in previous year. The trend from free standing towards built-in
appliances is gathering pace.

2. In the free-standing sector, growth has mainly been concentrated at
the upper end of the market, as an increasing proportion of consumers
trade up to higher-specification appliances.

3. The major sector within built-in appliances is cooking (including
microwaves) with 79 % by volume.

4. Within the free-standing market, cooking takes 28 % by volume,
compared to refrigeration (31 %), laundry (33 %) and dishwashers (8 %).

5. The built-in cooking market comprises ovens, hobs and hoods.

6. The built-in oven sector is the largest by value. Although gas has
made some gains in share in recent years, the sector is primarily electric,
estimated at 65 per cent.

7. Unlike ovens, the hob sector is predominantly gas, which accounts
for around 59 per cent, with electric hobs accounting for the balance.

8. The built-in cooking market has experienced considerable growth
in terms of volume, and this has spread to increased demand for extractor
hoods.

9. The free-standing cooking appliance market consists of cookers
and microwaves. Compared to other household appliances, the dishwasher
market remains at a relatively low level of household penetration.

10. The wider product range, including slimline and compact
dishwashers, and increased consumer awareness of the benefits the
dishwasher can offer, have contributed to growth in this sector.

24



Task 18. Read the text. Choose the paragraph of the text
corresponding to each statement:

A A balance can be negotiated to suit individual needs.
B There are advantages for both sides.

C A broader range of employees can benefit.

D The requirements of staff have changed.

E Work can take over your life even at the weekend.

Finding a work/life balance

1. Like many people in full-time employment, you may be
experiencing increasing pressure to stay late at night, take work home or
just “pop into the office” at the weekend.

2. As a result, you feel growing dissatisfaction, as you find the
boundaries between life and work beginning to blur.

3. On the other hand, finding your job satisfying does not make you
want to spend all your time at work either, as other things in your life
matter, too

4. The good news is that some employees are making it easier to find
a balance. For example, you can discuss your free-time activities
commitment with your boss who will do his best to build them into the
work schedule.

5. You will find it easier to arrange time off when you want it as you
become more experienced in the job - and more important to your
employer.

6. Employees are increasingly looking for flexible working conditions
which acknowledge lifestyle choices, including family, self-education,
progressive return to the workplace or easing out of the workforce
altogether.

7. When it works, it's a win-win situation. The employee has greater
flexibility, and the employer is rewarded with greater commitment.

8. Work/life balance developed out of the “family-friendly” policies
introduced in the late 80s and early 90s.

9. Where family-friendly policies were mainly seen as a women’s
initiative, designed to support mothers with children, work/life balance is
less gender specific and recognizes other commitments as well as family.

10. A number of policies and practices, such as flexible working hours,
working from home and job sharing, make an organization more responsive
to the needs of its workforce.
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Task 19. Read the text. Choose the paragraph of the text
corresponding to each statement:

A Downshifting challenges society's preoccupation with consumer
choice and its recent elevation in importance.

B The current volume of people opting to downshift makes it a
numerically important phenomenon.

C Downshifting involves the individual concerned in a form of
withdrawal from the social expectations that pervade all strata of modern
life.

D One negative aspect of downshifting is that the individual's social
status may be diminished.

E It is inevitable that the decision to downshift and consequent
lifestyle changes will have an impact on the voting patterns of those
concerned.

Downshifting

1. Downshifting, with its emphasis on a better quality of life, appears
to be a growing trend in many parts of the world.

2. Evidence suggests that the decision to downshift requires a process
of untying oneself from overriding social expectations, which are
manifested at the broadest level of society and which seep down to the
personal reactions of close friends and family.

3. Since downshifting is now such a significant phenomenon - it is a
choice made by nearly a quarter of adult people (23 % of those aged 30-59)
- it has become a social force.

4. Downshifting is not yet a conscious political force, although the
shift in priorities of this segment of the electorate must be beginning to
influence voting patterns.

5. In a world where we are unconsciously, or semi-consciously,
influenced by powerful forces to behave and think of ourselves in certain
ways, living more consciously is a radical act.

6. For most downshifters, the change is one which involves taking
control of one’s life and living more consciously, and that making the
change takes courage.

7. This is paradoxical in a society that celebrates individual freedom
and which, over the last two decades, has been dominated by the modern
politics of neoliberalism that places so much importance on consumer
choice.

8. Why does it take an act of courage to choose to devote less time to
earning money and acquiring things and more time to other pursuits?
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9. The answer is that, despite all of the rhetoric, only certain forms of
choice are socially permissible, those that are consistent with
acquisitiveness and the desire to get on.

10. The result is that downshifters often lose friends and lose status,
and their relationship to society changes, sometimes in a fundamental way.
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LEXICAL TESTS
Find the Ukrainian equivalent for the word or phrase underlined:

1. The parties undertake to refrain from the threat or use of force in
any manner inconsistent with the purposes of the UN.

1) 3amob6iratu 2) BigxuaaTuca 3) BiAMOBAATHUCA 4) yTPUMYBATHUCH
5) yZiaBaTHUCh J10

2. The parties will seek to eliminate conflict in their international
economic policies and will encourage economic collaboration.

1) po3BUBaTHU Ai/IbHICTH 2) 3a0X04YyBaTH cCHiBOpanio 3) COPUATH
nopo3yMiHHIO 4) 3a6e3ne4yBaTH B3aEMOOOMIiH 5) HaZjaBaTH AOMOMOTY

3. The officials agreed to increase public awareness of the enhanced
political dialogue between the two countries.

1) YCBiJIOMJIEHHS rpOMaZCbKOCTI 2) NOiHPOPMOBAHICTh
rpoMafACbKOCTi 3) 3HAaHHA TPOMaJCbKOCTI 4) yd4acTb TpPOMaJCbKOCTI
5) ny6J1iyHa JUCKYCis

4. The terrorists invalidated the cease-fire agreement by launching
the attack on the embassy.

1) yxusiactu foroBip 2) BTiJIMJIUTU J0T0Bip 3) aHyJII0BaTH AOTOBIp 4)
aHeKCyBaTH J0TOBIip 5) miinyMcaTH A0TOBip

5. The high-ranking official dismisses the corruption allegations as
pure conjecture.

1) 3BUHYBa4yeHHS y KOpyIlii 2) CyMHIBU y KOpymnlii 3) cTBepAKeHHs
PO KOpYILito 4) NpUNylleHHs PO KOPYMLito 5) f0Ka3u KOpynuii

6. The agreement stipulates that two countries will cooperate in the
sphere of nuclear tests.

1) yroga Bkasye 2) yroja niaTpuMmye 3) yrojia nepegbavae 4) yroaa
HaroJiomye 5) yrosa 3060B’s13y€

7. The state promotes the development of science and the
establishment of scientific relations with the world community.

1) neprkaBa npormnarye 2) aep»kaBa HaB's13y€e 3) JeprkaBa JonoMarae 4)
Jlep>kaBa KOHTPOJIIOE 5) neprkaBa peKkJaMye

8. After a long discussion the parties decided to make amendments to
the agreement.
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1) ckacyBaTh 3MiHM 2) BHeCTHM IMpono3ulii 3) BAOCKOHAJUTH
4) BHECTH NONPAaBKU 5) BHECTH MYHKTHU

9. The objectives of the OSCE is to foster the protection of human
rights, democratic freedoms and settlements of regional conflicts.

1) mpomnaryBaTH 3axXxWUCT 2) KOHTPOJIOBATHM 3aXUCT 3) CHPUATH
3aXMUCTYy 4) HarJ4aTH 3a 3aXUCTOM 5) 0OMeXXyBaTH 3aXUCT

10. The law envisages criminal liability for involving juveniles in
criminal activities.

1) 3akoH mnepeab6ayva€e 2) 3aKOH KOHTPOJIIOE 3) 3aKOH HAroJiolye
4) 3aKOH CTBEPKYE 5) 3aKOH 3HIMaE

11. The speaker announced that such political statements would
engender resentment, mistrust and disrespect among people.

1) nopoKyBaTMUMyTb O0OypeHHs 2) 3acCloKOSITb OOYypeHHs
3) BIVIMHYTb Ha OOypeHHS 4) MNpUCKOpSATh OOYpeHHs 5) 306iIbIIHATH
00ypeHHA

12. Apparently the purpose of the meeting is not so much to improve
the relations but to prevent their further deterioration.

1) mogasbliie NorJaubJeHH] 2) nojaJblie po3MUPeHHS 3) noJaablly
ecKaJsaliio 4) nojasblie NOriplieHHSA 5) NoJaabIIuKA po36paT

13. According to the expert, the employment of the explosive devices
caused an enormous number of casualties.

1) KisibKicTb BHUOYXiB 2) KiJIbKICTb 30UTKIiB 3) KiJIbKICTb KepPTB 4)
KiJIBKICTb MPUT0/1 5) KiJIbKiCTb aBapiu

14. They admit they made a mistake by not considering the issue of
financial assets.

1) ¢iHaHCcOBi aKTUB 2) ¢piHaHCOBI 3ao1amKeHHs 3) ¢iHaHCOBI rpynu
4) ¢inaHcoBi goroBopU 5) PpiHAHCOBI MUTAHHA

15. The agreement will encompass the whole range of political,
financial and economic issues.

1) BesiMKuM 06cAT 2) BEJIUKUU 00°€M 3) LI ClIEKTP 4) NOBHUM P,
5) 3arasibHUM CIEKTP

16. This issue has been a stumbling block during all talks between the
countries.
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1) rosioBHa TeMa 2) cniipHU# 6J10K 3) ApyropsiiHe NUTaHHA 4) KaMiHb
CIOTUKaHHA 5) A0aTKOBE MU TAHHA

17. Under the circumstances, there could be no question of granting
citizenship to refugees.

1) HaropoJ»KeHHsI TPOMaJSHCTBOM 2) HaJaHHS TPOMAJSHCTBA
3) rapaHTyBaHHSI TIpoMajsiHCTBA 4) mMiATpUMaHHA T'POMaJSIHCTBA
5) diHaHCyBaHHS rpOMaisiH

18. Ukraine welcomes investments in Ukraine’s economy and creates
favorable climate for international investors.

1) HeoOXifHI yMOBH 2) KOHKYPEHTiI yMOBH 3) CHPHUATJHBI YMOBHU
4) NpUEMHHUM KIiMaT 5) )KOPCTKUH KJIiMaT

19. The exercise of some rights may be restricted by law only in the
interests of national security and territorial indivisibility.

1) TepuTOpiaZlbHA CyBepeHHICTb 2) TepUTOpiaJbHA IJIICHICTD
3) TepuTopiasibHa be3mneka 4) TepyuTOpiasibHA pO30piCTh
5) TepuTOpiasibHUMN KOHQIIKT

20. All goods transported through customs territory are subject to
close inspection.

1) nigmaBathch BUNpPOOYBaHHIO  2) migjasaraTv  nepeBipii
3) migsAraTy peectpauii 4) niAAaBaTUCh KPUTHUILL 5) BUMaraTu nepeBipku

21. In modern democracies' supreme authority is exercised for the
most part by representatives elected by popular suffrage.

1) Hasarom)KyBaTH 2) BU3HaBaTH 3) BU3HA4aTH 4) 34ilCHIOBATHUCH 5)
BUIIPABJISAITU

22. The new prime minister has launched far-reaching reforms
necessary to sustain the country’s economic growth.

1) npoBoguTu 2) nigTpuMmyBaTu 3) HajaBaTu 4) CTBOPHOBATHU
5) KOHTpOJIIOBAaTH
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23. Members may be suspended from the exercise of the rights and
privileges of membership or expelled by the General Assembly upon the
recommendation of the Security Council.

1) 3a6e3neydTHd BHUKOHAHHA 2) NPUSYNHUHUTH 3JiHCHEHHS
3) BUpIIIMTU cynepedyky 4) NPUCKOPUTH 3AiMCHEHHs 5) ckacyBaTu
BUKOPHUCTAaHHA

24. Politicians seeking office make extensive use of counseling
services provided by public relations specialists.

1) npeTteHayBaTH Ha nocady 2) KepyBaTd odicoM 3) mpaliioBaTH B
odici 4) 3a6e3nedyyBaT BUKOHAHHA 5) IIyKAaTU MOCAJ

25. The preparation of the budget was complicated when parliament
approved a motion put forward by the rightwing alliance.

1) BHecTH NpOMNO3UIiI0 2) AOTPUMATUCh MOPAAKY 3) NPUHHATHU
3000B's3aHHA 4) YXBaJUTHU NPOMO3ULiI0 5) CXBaJTIOBATH MOCTYI

26. The small centre parties were considering to break ranks.
1) BuHMTH 3i ckyiagy 2) 3JilaMaTH omip 3) pO3NOYUHATH CHOpPaABY
4) pO3KpUTHU TAEMHHUIIO 5) JIiKBiyBaTH MapTito

27. The fact that the opposition didn't muster its full numbers in the
chamber of deputies ensured a narrow majority for the government.
1) kepyBaTHu 2) M0o6isisyBaTH 3) HaBYaTH 4) 3axulaTU 5) BU3HABATH

28. The president announced that he had decided to accept the
premier's resignation and that he would be obliged to dissolve parliament.

1) ckaukatu 2) ob6bpaTtd 3) po3nycTUTU 4) PO3KPUTHUKYBaATHU
5) nepeobpatu

29. Such a collapse would be sure to cause some social upheaval and
short-term economic pain.

1) noTpsiciHHa 2) mnokpalleHHs1 3) pO3BUTOK 4) isJIbHICTb
5) pepopmyBaHH4

30. Consuls are entitled to some but not all diplomatic privileges and
immunities.

1) no36aBJsieHi npaBa 2) MaTH npaBo 3) 6paTu [0 yBaru 4) npumMMarTu
Jl0 po3rJisiAly 5) 3ac/IyroByBaTH Ha TUTYJIU

31. The cold war spawned a number of regional mutual-defense
alliances.
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1) 3acyautu 2) po3wuputd 3) po3dopMmyBaTu 4) NOPOJUTH
5) 3BHUILUTH

32. The term “statute” is a used to denote an accessory instrument to
a convention setting out certain regulations to be applied.

1) ocHOBHHUHM 2) ycTaHOBYMU 3) [ONOMDKHHN 4) OCTaTOYHHUU
5) KepiBHUH

33. Distant events often have an immediate and significant impact,
blurring the boundaries of our personal worlds.

1) po3MuBaroyu 2) yKpinJiwwuu 3) 3axyllaoydu 4) BCTAHOBJIIOIOYH 5)
PO3MEKOBYIOUU

34. These documents denote agreements of a binding nature between
the states concerned.

1) o6oB'siI3kO0BUM 2) cynepedyJuBUM 3) CHiJIbHUU 4) HENOCTIHHUU 5)
baKyJIbTaTUBHUU

35. The act affirms the principle of inviolability of one another’s
frontiers of all states in Europe.

1) 3axucT 2) HemnopywHicTb 3) po3lMHMpeHHs 4) BHU3HAHHA
5) cynepeyHicTh

36. The reform program failed to win people’s indispensable support.
1) Haf3BUYAWHUN 2) HeynepeJKeHUU 3) 0co6JMBUUN 4) HeOOXiJHUU
5) ogHOCTAaMHUH

37. Each year, hundreds of exhibitors gather from all parts of the
world and thousands of transactions are concluded.

1) 3sanyyatu 2) ykjaagaTd 3) 3MiHOBaTH 4) cKacoByBaTH
5) 3aBepIyBaTH

38. Whatever the constitution or legal system of a nation, it cannot
use its domestic law as an excuse to breach an international agreement or
violate an international rule.

1) poTpuMyBaTHCh 2) jocsAraTu 3) HopyliyBaTu 4) BTPy4aTHUCh
5) NONOBHIOBATH

39. NATO activities are no longer confined only to Europe.
1) 0OMeXyThCS 2) CIPSAMOBYIOThHCS 3) KepyHTbCH
4) 30cepe/KYIOThCs 5) po3ropraroThcs
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40. We have to remove the causes which stir up enmity among
multinational communities.

1) 3arpoxkyBaTH 2) NpOBOKYBaTH 3) 3acy/PKyBaTH 4) BpaxoByBaTH 5)
00MeXyBaTH

41. The head of the board has refuted rumours about his possible
resignation.

1) koMmeHcyBaTH WKOAY 2) BHUCJIOBUTU  3aHENOKOEHHS
3) cnpocTyBaTh 4YyTKWA 4) NiATBEpPAUTH HEOOXiJHICTh 5) HoOIIKMpPIHOBATH
YyTKU

42.1n 1990 the United Nations condemned Iraqi occupation of Kuwait
and imposed a trade embargo on Iragq.
1) cxBanuTH 2) 06MexuTH 3) nigTpUMaTH 4) 3acCyJUTHU 5) 0OYPUTUCH

43. Realization of this project depends not on economic expediency or
national interests but functionaries.
1) pouinbHicTh 2) focBif 3) ouikyBaHHSA 4) BUAATKHU 5) BTpy4aHHS

44. By the end of World War II in 1945, the United Sates had the
greatest productive capacity of any country in the world, and the words
“Made in the USA” were a seal of high quality.

1) BUpOOHHUUI MOTY>XHOCTI 2) NPOAYKTUBHUN 00CAT 3) NPOAYKTHUBHA
NpaBO3/aTHICTb 4) TOBapHa CIPOMOXKHICTh 5) BUPOOHUYI NOTpeour

45. Most Americans believe that the rise of their nation as a great
economic_power could not have occurred under any system except
capitalism.

1) eKOHOMIYHU aBTOPUTET 2) Jiep>KaBa 3 pO3BUHEHOK €KOHOMIiKOM0
3) ekoHOMIYHa BJIazia 4) eKOHOMiYHa Jiep>kaBa 5) eKOHOMHaA JieprKaBa

46. Although the matter can still provoke heated discussion, the
argument in favour of dropping the bombs was that casualties on both sides
would have been greater if the allies had been forced to invade the country.

1) cTopoHu 2) cO03HUKM 3) BOPOTHU 4) cynepHUKH 5) cycigu

47. Although Soviet leader Joseph Stalin had promised to support free
elections in all the liberated nations of Europe, Soviet forces imposed
Communist dictatorships in Eastern Europe.

1) 3acyauTu  AUKTATypy 2) BCTAHOBJKBATH  JAUKTATypy
3) npy¥3HayaTu JAUKTAaTypy 4) OroJiollyBaTH JUKTATypy 5) CKUHYTH

JUKTaTypy
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48. The Korean War and the Soviet development of atomic and
hydrogen bombs instilled fear in Americans.

1) 3MeHWUTH CTpax 2) Ppo3BiATH cTpax 3) BCeJATH CTpax
4) migCUINTHU CTpax 5) 36I/IBIIKUTH CTPAX

49. Foreign leaders are voicing concerns over the crisis but seem to
be in disagreement.

1) 3agBaATHM NOpoTeCcT 2) MNpUKMMaTH pilleHHA 3) BigKuAaTH
3acTepeXeHHs 4) BUCI0B/IIOBATH 3aHENOKOEHHS 5) BUT0JIOCUTH TPOTECT

50. Let’s hope that the international community’s recent efforts to
facilitate a peaceful solution will pay off.

1) cnpugaTu BUpilIeHHIO 2) 3HAWTU BUpilleHHA 3) JoMaraTucs
BUpIillleHHS 4) OTpUMAaTH BUPillleHHA 5) IIyKaTU BUPILLIEHHS

51. The Russia-Georgia War in 2008, brief but bloody, resulted in a
humiliating defeat for US-ally Georgia.

1) npuHM3/IMBa mopa3ka 2) axyuBa KaTacTpoda 3) »xajorigHa
nepeMora 4) raHeOHUM BUYMHOK 5) raHeOHHUM KPOK

52. Main tasks of the Press Service lie in meeting information needs of
Ukrainian and foreign communities concerning both foreign policy
activities of Ukraine and day-to-day work of the MFA.

1) 3a10BOJILHATU NMOTPeOU 2) COPOCTOBYBAaTH NOTpPebU 3) BUSABUTH
noTpe6bu 4) BU3HAYUTHU NOTPEOH 5) 30i/IbIIMTU IOTPEOU

53. The opposition’s leaders refused to accept the government’s
concessions, which included the resignation of Prime Minister and his
Cabinet.

1) mpomnosunii 2) nocTtynku 3) HOBOBBeJEeHHS 4) aJbTepHATHBHI
BapiaHTHU 5) yka3u

54. Due to the President’s refusal to release the opponent during the
height of the protests, the opposition leader even turned down a
concessionary offer made by the president that would have allowed him to
become Prime Minister.

1) NpuHAHATH NPOMNO3HUILiI0 2) PO3TJISAATH MPOMNO3HUIil0 3) BiAXUIUTH
MPOMO3UILiI0 4) B3ATH |0 yBary MpoIo3uIlio 5) KPpUTUKYBATH MPOMO3HILi 10

55. The IMF has refused to loan money because the government did
not implement the financial reforms that the IMF required.
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1) npuckopwBatd pedopmMu  2)  cxBaJwBaThd  pedhopMu
3) 3pivicHioBaTH pedopMu 4) 3aoxouyyBaTh pepopMU 5) po3poOUTH
pebopmu

56. The answer to the question if the president should step down
seems to depend on the extent to which the government is to blame for
restricting civil liberties and inciting riots.

1) npuaymyBaTM MOBCTaHHA 2) NiAOyproBaTH [0 MOBCTAHHA
3) 3acymKyBaTH TMOBCTaHHSA 4) po3irHaTM MNOBCTAaHHA 5) 3acHOKOITH
MIOBCTAHHSA

57. The current president was in charge of the city’s Committee of
External Relations, a post in which he was responsible for attracting foreign
investment.

1) 3anydyaTtu iHBecTULjii 2) NepelIKOJXKAaTU HAJAXOMKEHHIO
iHBecTULiil 3) CcKOpo4yBaTU IHBeCTULii 4) NPUNMHUTU IHBECTULIKNHY
JSIJIbHICTD 5) moBaXkaTH iHBeCTOpiB

58. The United States followed the lead of northern European nations
in asserting a right to “civilize” the peoples of Asia, Africa, and Latin
America.

1) 36epiraTu 3a co6010 NpaBo 2) HajlaBaTU NpaBo 3) MOIIMPIOBATH
npaBo 4) BiACTOIOBATH NPaBO 5) CKAaCOBYBaTH MPaBo

59. Human dignity, freedom, democracy, equality, the rule of law and
respect for human rights are the core values of the EU.

1) BepxoBeHCTBO mpaBa 2) 3aKOH i MNOpsAAoK 3) HalioHaJIbHE
3aKOHO/JIaBCTBO 4) 3aKOH PO MPaBONOPYIIEHHS 5) NPaBUJIO 3aKOHY

60. Foreign Ministry spokesman stated that the OSCE Monitoring
Mission is withholding information on the use of force by security services
against civilians in the southeast of the country.

1) npuiiMmaTu iHpopMalito 2) 36upaTtu iHpopMmalito 3) NpUXOByBaTH
iHpopMalito 4) onpuarJHUTH iHpopMalito 5) BUMaraTu iHpopmariro

61. When there is peace to keep between warring factions, the world
asks the UN to mobilize peacekeepers, oversee elections, and create
stability.

1) cnoctepiraTtu 3a Bubopamu 2) BIJIMBAaTH Ha pe3y/JibTaTU BUOODPIB
3) OoHKOTyBaTHM BHOOpU 4) irHopyBaTh BUOGOpPU 5)3ao0xodyBaTH [0
BHUOODIB
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62. The United Nations Foundation links the UN’s work with others
around the world, mobilizing the energy and expertise of business and non-
governmental organizations to help the UN tackle issues including climate
change, global health, peace and security.

1) HazaBaTHM BeJIMKOTO 3HAaYyeHHS MUTAHHAM 2) MOpyUIyBaTH
NMTaHHA 3) AOCAIKYBAaTH MUTAHHA 4) BUpIlIyBaTHU NMUTAHHA 5) 3aKpUTHU
NHUTaHHSA

63. Today’s peacekeeping operations facilitate the political process,
protect civilians, assist in the disarmament, demobilization and
reintegration of former combatants; protect and promote human rights and
assist in restoring the rule of law.

1) po336poeHHs 2) 030po€eHHsA 3) oOcHalleHHS 4) ekimipyBaHHS
5) noctadyaHH# 30poi

64. On Election Day, observers monitor the opening of polling
stations, checking whether ballot boxes are empty and properly sealed, and
whether all ballots are accounted for.

1) kabiHKM [y TOJIOCYBaHHA 2) NpHUMIllleHHs JJis TOJIOCYBaHHS
3) Bubopui AinibHUL 4) BUOOPU 5) BUOOPUI OKPYTH

65. Chemical weapons were used in the Irag-Iran war, when the Iraqi
army used weaponized mustard to repel attacks by Iranian forces.

1) posnmoyatu Hactyn 2) Bifj6uBaTH Hamnaj, 3) NOCHUJIMTH HACTYI
4) 3ano6irtTv HanaZy 5) CpoBOKYBaTH Hamna/,

66. Nowadays, terrorists resort to violence and other overwhelming
scenarios such as kidnapping, explosions, murder and hostage taking.

1) mnigbyproBaTH [0 3aCTOCyBaHHS CHJM 2) BHUIIPaB/JOBYBaTH
Hacu/iisg 3) MOpoJpKyBaTH Hacw/uisd 4) BJAaBaTHUChb /[0 HACWJLIA
5) cnpoBOKyBaTH HAaCUJLJIA

67. Large companies usually reimburse employees’ travel expenses
incurred on a business trip.

1) HecTH BUTpaTHU 2) BiJLIKOJOBYBaTU BUTPATH 3) BiIJHOCUTHU A0
BUTpaT 4) HapaxoByBaTH BHUTPATH 5) BiMOBUTHCH KOMIIEHCYBaTH
BUTpPATHU

68. Legal and Treaty Department provides support for the foreign
policy activities of the country.
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1) BiaMOBAATH y mNiATpUMUI 2) BiIMOBJATHUCH Bij NiATPUMKHU
3) HalaBaTH NiATPUMKY 4) IPOCUTH NiIATPUMKH 5) 3a/y4aTHy MiATPUMKY

69. Production requires raw materials, tools and workers to operate
the machinery.

1) nepepobHUl MaTepias 2) Biixoau 3) BUKOPUCTAHUHM MaTepias 4)
CHPOBHHA 5) 06J1aiIHaHHA

70. One of the main tasks of the Ministry is to ensure integrity of the
country.

1) rapaHTyBaTHh 6e3mneKky 2) 3abe3Me4yuTH LiJiCHICTh 3) CHpPUATH
iHTerpauii 4) niATpUMyBaTH HaLiOHaJbHI iHTepecu 5) 3abe3meyuTH
IHTerpatuito

71. Since no more funds will be made available for this project, we
cannot afford to squander money.

1) 3aowamxKyBaTu rpoiui 2) nepepaxoByBaTH rpoiui 3) BUTpadaTH
rpoiui 4) iHBecTyBaTH rpouii 5) eKOHOMUTH Ipoli

72. The President has dissolved the parliament to pave the way for
fresh elections.

1) po3nycTuTH napsiaMeHT 2) CKJMKaTHU mapJaMeHT 3) BijBiaTu
napJiaMeHT 4) BHUCTYNWUTH y MNapJaMeHTi 5) orosocMTH Npo BUOOpPHU [0
napJjaMeHTy

73. Top officials of both countries who have met for the first time
since last year have pledged to conduct negotiations.

1) 3akiaMKaTH [0 TepeMOBHMH 2) TMPOBECTH NEePEMOBUHHU
3) 3anJiaHyBaTHU MepeMOBUHU 4) irHOpyBaTH NEPEMOBUHU 5) BiIMOBUTHCH
BiJl IepeMOBHH

74. Following long negotiations the US President visited the country
to resume diplomatic relations.

1) HanmaroguTH  AUIJIOMAaTU4YHI  BiIHOCMHU 2)  po3ipBaTu
JUIJIOMAaTU4YHI BigHOCMHM 3) BiJHOBUTH [JUIJIOMATUYHI BiJHOCHUHU
4) cipugaTH JIUTIJIOMaTUYHUM BiJHOCMHaAM 5) nigTpuMyBaTH
JUIIJIOMAaTU4YHI BIITHOCUHU

75. The department coordinates the activities in the field of external
relations in accordance with delegated powers.
1) mupoki MOBHOBaXKEHHs 2) BTpaudeHi NMOBHOBaXkKeHHi 3) HajaHi

NOBHOBa)KeHHs 4) oOMeKeHi TOBHOBAXKEHHS 5) CKOPOY€EHi MOBHOBAXKEHHS
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76. All information about missing in action must be disclosed.
1) pgiro4yi  BiMCbKOBI  2) 3HUKJI  6e3Bictu 3)  3arubJi
4) BilicbKOB0O300O0B’sI3aHi 5) MOJIOHEHI

77. No one seems to know why he declined the invitation to take part
in the talks.

1) NpUMHATH 3aNpolIeHHs 2) OTpUMATH 3alpolleHHs 3) HaJic/aaTH
3anpolleHHs 4) BIAXWJIUTH 3alpolleHHda 5) JgaTth BiANOBiAb Ha
3alpolIeHHS

78. The Executive Board of the company is accountable to
shareholders.

1) niA3BiTHHUM akIjioHepaM 2) 3aJjiydya€ akljioHepiB 3) O0YOJIIOE
aKIioHepiB 4) BTpayae aKI[ioHEPIB 5) KOHCYJIbTYEThCA 3 aKI[iOHEpPaMHU

79. Corporations often have subsidiaries that are more or less
autonomous.
1) cybcugii 2) ¢inii 3) mapTHepu 4) koMneHcanil 5) KOHKYpeHTHU

80. The peace treaty ended hostilities between the two countries.
1) MUpHI NepeMOBUHM 2) MUpPHE NPOTUCTOSTHHA 3) MUPHUHU JOTOBIp
4) MUpHe HaceJleHHs 5) MUpHa MOBeiHKa
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GRAMMAR EXERCISES

Noun: Number. Case

Task 1A. Complete the sentences with the correct form of the
words in brackets.

O UTLH WDN - O

. Many small houses (house) were destroyed.

.Itis autumn, and the ____(leaf) are falling.

. There were two important ___ (news).

. Several (child) got lost in the forest.

.I've got only two ___ (luggage).

. There were four serious car ___ (crash) this weekend.
. He can give you lots of important ___ (information).

. Lots of __ (person) were unhappy about it.

.How many ____ (toast) do you want?

9.

Let me give you a few ____ (advice).

10. He’s only five ___ (month) old and he’s already got two

(tooth).

Task 1B. For sentences (1-7) choose the correct answer (A, B, C, D).

0.I need to buy C.
1. My father is not only the town mayor, he runs __, too.
2. The __produced at our factory in Scotland.
3. I'm looking for ___ to cut this ribbon.
4. Many nurses in hospitals are __.
5. ___becoming more and more popular these days.
6. You can’t live for ever on ___ and oranges.
7. on the table.
0.A a bread B aloaf bread
C aloaf of bread D breads
1. A a business B a piece of business
C business D some business
2.A good are B good is
C goods are D goods is
3. A a pair of scissors B a scissor
C a scissors D some scissors
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4. A womans B women

C awoman D womens
5. A Athletic is B Athletics are
C Athletics is D Athletic are
6. A tomatoes B tomatos
C a tomato D a tomatoes
7. A The money are B The money is
C The moneys are D A money is

Task 1C. Some of the sentences (1-8) are correct, and some have a
word which should not be there. If the sentence is correct, put a plus. If it
is incorrect, cross the unnecessary word out of the sentence and write it
in the space.

0. Would you like a piece of chocolate? __+

[ like a classical music very much. _a

1. That’'s a wonderful news!

2. Do you own a computer?

3.1 heard an interesting piece of information today. ____
4.1 saw your friend playing a golf. ____

5. There’s some luggage in the car. ____

6.1 bought a carton of some milk. _____

7. The gates were made of an iron. ____

8. You need an experience to run a business like this. __

Task 1D. For gaps (1-10) choose the correct answer (A, B, C, D).
Write your answers in the spaces.

I spent (0) _A time looking round the shops in Oxford Street
yesterday. | spent far too (1) _____ money, of course. [ bought some (2) ___:
three dresses, a sweater, a blouse, two (3) ____ of trousers and a skirt. I
enjoyed myself - it was great (4) ___. The skirt is really nice. A hundred
pounds (5) __ quite expensive, but I couldn’t resist it. Anyway, it was
reduced from a hundred and twenty pounds, so I made a (6) ___ of twenty
pounds. One of the dresses (7) ___fit, I've discovered, but I can take it back
next time [ go. I had a wonderful time and bought all these lovely things. But
it was very crowded. Everyone (8) ___ rushing about. And the traffic (9) ___
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terrible. I usually have coffee and a (10) __ of cake, but the cafes were all
full, so I didn’t bother.

0 A some Ba Clots D few

1 Aless B little C more D much

2 A footwear B clothes C dress D cloths
3 A couples B paires C pairs D pieces
4 A fun B funny C lucky D beauty
5 A are Bis C were D have been
6 A keeping B debt C saving D wallet
7 A aren’t Bisn’t Cdon’t D doesn’t
8 Ais B were C was D are

9 A was Bis C are D were

1 A tube B piece C lump D bar

Task 1E. Only where possible rewrite the sentences using ‘s, s’, or
just an apostrophe ().

0. This bicycle is for a child. - This is a child’s bicycle.
1. This is a club for women.

2. This pen belongs to the teacher.
3. That's a job for a stewardess.
4. It’s a school for girls.
5. That hat belongs to Doris.
6. It was work of seven years.
7. That’s a leg of the table.
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Articles

Task 2A. For sentences (1-12) choose the correct answer (A, B, C).

0.1 think that’s B thing to say.
1. Judy goes to on the bus.

2.1 don’t know what to do. It’s problem.

3._____is my favourite sport.

4,  starts at nine o’clock.

5. We had time ___ at the disco yesterday.
6. Nigel opened a drawer and took out ___.
7.Did you learn to play ___?

8. We can finish the rest of the bread for __.
9. While I was in hospital, they gave me

10. I might listen to __.
11. We need to protect from pollution.
12. Why do they always play ___ music?

0 |Aaawful B an awful C awful

1 |Awork B a work C the work

2 | A quite difficult B a quite difficult C quite a difficult
3 | A Golf B A golf C The golf

4 | A The school B A school C School

5 | Areally nice B a really nice C really nice

6 | Aphotos B a photos C some photos
7 | Aviolin B a violin C the violin

8 | A breakfast B a breakfast C the breakfast
9 | AX-ray B a X-ray C an X-ray

10 | A radio B radios C the radio

11 | A the environment B some environment C environment
12 | A so terrible B such terrible C such a terrible

Task 2B. Put in “a”, “an”, “one” or “the” into each gap. Use one

word only in each space.

This is (0) _a__true story about (1) ___ man who chose (2) __ worst

possible time for his crime. It happened in London in (3) ___ summer of

1972. (4) __ man stole a barge on (5) __ River Thames (in case you don’t
know, (6) __ barge is a river boat used for carrying goods). (7) __ owner
of (8) _ barge soon discovered that it was missing and immediately
informed (9) ___ police so that they could look for it. Normally (10) ___
river is quite (11) ___ busy place, and it would be difficult to find what you
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were looking for. On this day, however, there was (12) dock strike, and
so there was only (13) ___ barge on (14) ___ river. (15) ___ thief was
quickly found and arrested.

Task 2C. Put “the” where necessary. Write your answers in the
spaces.

0. How often did you play football in the Netherlands?

1. Ann livesin ___ Oxford Street.

2. Have you ever been to __ Royal Opera?

3. Where are you staying? - At ___ Metropol.

4. ____Milanis alarge city in __north of ___Italy.

5.__ Brussels is the capital of ____ Belgium.

6. Last year he visited ___ Philippines.

7.____ National Gallery isin ___ Trafalgar Square in ___ London.

8. ___Rocky Mountains are in __ North America.

9. In ___ London, ___ Houses of Parliament are beside ___ River
Thames.

10. Alan studied chemistry at ___ London University.

Task 2D. Some of these sentences (1-11) are correct, and some
have a word which should not be there. If the sentence is correct, put a
plus. If it is incorrect, cross the unnecessary word out of the sentence
and write it in the space.

0.  The space capsule came down in the Pacific. _+_
__My new job starts in the April. the

1.Iwas so tired I went to bed at nine.

2. We had a very good lunch in the company canteen. _____
3. The life just isn’t fair sometimes. ____

4. What the clever children you have! _____

5. We went out and bought some pictures. _____

6. Tessa was still working at midnight. _____

7.1drive past the hospital every morning. _____

8. A one boy was much taller than all the others. ____
9. It costs such a lot of money, you know. _____

10. I'll meet you outside the National Gallery.

11. Have you got any idea who invented the fridge? ___
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Pronouns

Task 3A. Read the sentences below. For sentences (1-13) choose

the correct answer (A, B, C, D). Write your answers in the spaces.

0.1 can’t go to a party.  haven’t got _A to wear.

1. Let’s stop and have a cup of coffee. _____a café over there, look.

2. Everyone in the group shook hands with __.

3. The washing-machine has broken down again. I think we should

get .

4. All the guests were dancing. ___ having a good time.

5. Take care, will you, Anna? Look after __.

6. Yes, ___would be lovely to see you again.

7.1f you want some apples, I'll get you ___ at the shop.

8. We've brought some food with __.

9. Who does this CD belong to? __, I've just bought it.

10. The shop doesn’t sell new books. It only sells old __.

11.Is __a post office near here, please?

12. The two girls often wear ___ clothes.

13. Have you had enough to eat, or would you like something __?
0 A anything B everything C something D nothing
1 Als B It's C There D There’s
2 A each other | B one other C one the other | D themselves
3 A anew B a new one C new D new one
4 A All were B Every was C Everyone was | D Someone

were
5 Ayou B your C yours D yourself
6 Ait B this C there D you
7 A any Bit Cone D some
8 A me B ourselves Cus D we
9 Al B Me C Mine D Myself
10 | A ofthem B ones C some D them
11 | A here Bit C there D this
12 | Aeachother | B eachother’s |Cthemselves D
themselves’

13 | Aelse B another C new D other
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Task 3B. Read the text below. For gaps (1-12) choose the correct
answer (4, B, C, D). Write your answers in the boxes after the sentences.

(0)_B___was on September 20, 1973 that Bobby Riggs met Billie Jean
King on the tennis court. Of all the tennis matches until then, this was
probably the (1)___ that attracted the most attention. Riggs had once been
a champion, but at 55 he was getting rather old for top-class tennis. But he
considered (2) _____ a better player than any woman. In fact, he thought
women should go home and find (3) ____ useful to do in the kitchen. Billie
Jean King, on the other hand, was a 29-year-old star of women’s tennis and
a feminist. Riggs thought that (4) ___ would be a good idea to play King. He
was sure he could beat (5) ___ . King agreed to play. (6) __ was a lot of
interest in the match, and more or less (7) ____ in the country was looking
forward to (8) ___. On the night of the match, (9) ____ were over 30 000
people in the Houston Astrodrome. When Riggs and King came face to face
with (10) other, they had 50 million people watching (11) ___ on TV.
The match didn’t work out for Riggs, because Billie Jean King defeated (12)

, 6-4, 6-3, 6-3.

0 A There B It C These D On

1 | Aone B ones C which D any

2 | A oneself B himself C herself D themselves
3 | Asomeone B anyone C something D everything
4 | Athere B these C one D it

5 |Ahim B her C them D us

6 | AThere B It C This D That

7 |Aall B someone C everyone D everything
8 | Aher B him Cits D it

9 |Ait B there C this D these

10 | A each B one C every D all

11 | A him B her C them D us

12 | Aher B herself C himself D him

Task 3C. Read the sentences below. Complete the sentences with
the correct form of the words in brackets. Write your answers in the

spaces.

0. Put on _your _(you) coat when you go out. It’s very cold.

1. I have lost (my) pen, may I take ___ (your)?

2. If they've left ___ (they) dictionary at home, they may take ___

(my).

3. Please don’t take that bicycle! Itis ___ (he) and he needs it.
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4.1 had already lost my key, and then Mary lost ___ (her)! It was awful!

5. Be careful! That cup is very hot. Don’t burn __ (you).

6. When people are alone, they often talk to ___ (they).

7.]John fell and hurt ___ (he) yesterday.

8. You must ask __ (some) to help you with this work.

9. I know __ (no) about it and he doesn’t know __ (any) about it
either. ___ (no) knows about it.

10. He said ___ (some) in a low voice but I didn’t make out __ (any).
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Adjectives. Adverbs

Task 4A. Read the sentences below. For sentences (1-8) choose the

correct answer (A, B, C, D). Write your answers in spaces.

0. The house was A building.

1. The government is doing nothing to help ___.

2. The young man seems very ___.

3.1___ missed the bus. I was only just in time to catch it.

4. This detailed map is ___the atlas.

5. This place gets ____ crowded with tourists every summer.

6. Yes, [ have got the report. ___it.

7.1've read this paragraph three times, and [ __ understand it.

8. We've really sorry. We regret what happened ___.

0 |Aaniceold B a nice old C a stone old D an old nice
stone stone nice stone
1 | Apoor B the poor C the poors D the poor
ones
2 | Asensible B sensiblely C sensibley D sensibly
3 | A mostly B near C nearest D nearly
4 | Amore useful | B more useful C usefuller as D usefuller
as than than
5 | Aalways more | Bcrowded and |Cfrom moreto |D more and
more more more
6 |Aljustam B I'm just CI'm reading D JustI'm
reading reading just reading
7 | A can'tstill B can't yet C still can’t D yet can’t
8 |Aabit B much C very D very much

Task 4B. Read the sentences below. Complete the sentences with
the correct form of the words in brackets. Write your answers in the
spaces.

0. They’ve made these chocolate bars smaller (small).
It’s the most beautiful (beautiful) building in the world.
1. Can’t you think of anything ___ (intelligent) to say?

2. That was the ___ (funny) film I've ever seen.

3. Well, the place looks ___ (clean) now.

4. It was the ___ (horrible) feeling I've ever had.

5.]Janet looks (thin) than she did.

6. Have you read her ____ (recent) book?
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7.You need to draw it ____ (carefully)/

8. It’s the (large) company in the country.

9. The weather is getting (bad).

10. [t was the (boring) speech I've ever heard.

11. The programme will be shownata_____ (late) date.
12. You've got the (far) to travel.
13.T'll try to finish the job _____ (soon).
14. Thisisthe _____ (early) I've ever got up.

Task 4C. Read the conversation below. For gaps (1-10) choose the

correct answer (A, B, C, D). Write your answers in the spaces.

Martin: Hello, Nancy. (0) A_are you? Have you found a job (1) ?

Nancy: No, I'm afraid not, but I'm (2) ____ looking. It’s taking (3) ____
longer than I expected. The problem is there just aren’t (4) _____ jobs. And
there are too (5) ____ people looking for jobs.

Martin: I'm old enough (6) ____ remember when there was plenty of
work.

Nancy: There used to be lots of work, but there isn’t (7) ___ more. 'm
afraid I'm (8) ____ longer as optimistic as | was a few weeks ago. In fact I
feel a (9) ___ depressed about it sometimes.

Martin: Don’t worry. You'll (10) _____ find something, [ expect.

0 | AHow B What C Who D Why

1 | Alonger B soon C still D yet

2 | Aalready B more C still D yet

3 | Amore B quite C rather D some

4 | A enough B plenty C right D several
5 | Abig B lot C many D much

6 |Afor B of C that D to

7 | Aany B no C now D some

8 |Aany B never Cno D not

9 | Abit B piece C quite D slightly
10 | A already B yet C soon D before very
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Task 4D. Read the sentences below. Some of the sentences (1-10)
are correct, and some have a word, which is incorrect. If the sentence is
correct, put (+). If it is incorrect, cross the incorrect word out of the
sentence and write its correct form in the space.

0. He often comes home late. __+

[ haven’t seen him late. __late — lately
1. I am happily to meet you.
2. They have lived all their life happily.
3. Don’t speak to me so coldly.
4. Your hands are coldly, put on your gloves.
5. The results of our work were perfectly.
6. We have done everything perfectly.
7. “l am quite helpless in solving such problems”, she said.
8. She looked at them helpless not knowing what to do.

9. Can you tell me the exact time of his arrival?
10. Sorry, but I don’t know exact when he comes back.
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Numerals

Task 5A. Read the sentences below, most of them are idioms. Some
words are missing from them. Choose the most appropriate answer
from the list (A-]). Write your answers in the spaces.

A fifty-fifty F four

B two, two G sixes, sevens
C one hundred H Two, three
D forty [ three

E eleven ] nine, ten

0. Life begins at D.

1. Welivein a dimensional world.

2. There are players in a football team.

3. 'm sorry, things are a bit untidy. We're all at __ and ___ at the
moment.

4. This train seems to be late ____ times out of ___.

5. At first | was confused, butthenIput____and __

6. 's company, ‘s a crowd.
7. He’s a great player. He gives ___ per cent in every game.
8. Protests flooded in from the ___ corners of the world.

9. We split the prize money ___, and I've already spent my half.

Task 5B. Read the sentences below. Complete the sentences with
the correct form of the ordinal numerals in brackets. Write your
answers in words in the spaces.

0. Most people have a special party for their twenty-first (21) birthday.

1. I believe the Government should increase its aid to the ___ (3) World.

2. We shouldn’t treat immigrants as (2) class citizens.

3. The Americans celebrate Independence Day on the _____ (4) of July.

4. More progress has been made in the (20) century than in the
whole of history.

5. In the last sixty years the Olympic 100m record has improved by four

(10) of a second.

6. They are good friends. They’ve been on (1) name terms for
years.

7. Applications will be dealt with on a (1) come, _____ (1) served
basis.
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Verbs. Simple Tenses

Task 6A. Read the sentences below. Complete the sentences with
the correct form of the words in brackets. Write your answers in the
spaces.

0. It often rains (to rain) here in autumn.

1. His new job is very interesting. He (to meet) a lot of people.

2. This coat is very expensive! [t _____ (to cost) a lot of money.

3. The City Museum __ (to close) at 5 o’clock every evening.

4. Barbara is a lecturer. She (to teach) physics in Oxford
University.

5. She usually (to have) breakfast at 8 o’clock.

6. Yesterday the doctor (to tell) me to stay at home for several
days.

7.0n Sunday John (to buy) some flowers for her birthday.

8. 0n Tuesday Tom (to fall) and (to break) his arm.

9. When he ___ (to be) a child, he (to want) to be a singer.

10. The pupil (to forget) to do his homework the day before
yesterday.

Task 6B. Read the sentences below. For sentences (1-10) choose
the correct answer (A, B, C, D). Write your answers in the spaces.

0. The patient was operated on yesterday and the nurse B_after him.

1. Ann ___ the piano last year.

2. Last night when it got dark, they ___ the light.

3.1__ todrive a car some years ago.

4. The grandparents were very happy when their grandchildren __ to
them.

5.Itusually __ him an hour to get to school.

6. My friend ___ a doctor in two years.

7. Tomorrow the grandfather __ his umbrella if it isn’t raining.

8.1__ this day all my life. It's one of the most wonderful days!

9. Tom and Ann __ a long conversation. They haven’t seen each other
for a long time.

10. They ___ the results last week.
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0 | Atook B looked C phoned D was

1 | Aplayed B play C plays D is playing

2 | A switch on B switched off C switched on | D switch off

3 | Alearn B learns Cam learning | D learnt

4 | A came B come C comes D are coming

5 | Atook B takes C is taking D take

6 | A became B become C will become | D are
becoming

7 | Awill take B doesn’t take C takes D won'’t take

8 | Aremembered | B will remember | C remembers D don’t
remember

9 | Ahad B has C will have D won’t have

10 | A got B will get C get D are getting
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Verbs. Continuous Tenses

Task 7A. Read the sentences below. Complete the sentences with
the correct form of the words in brackets. Write your answers in the
spaces.

. “Who is playing (to play) the piano upstairs?” “My sister is”.
. You can turn off the TV-set. (not to watch) it.
. They (to want) to go to Paris this summer.
. This pie (to taste) awful.
. The water (to boil). Would you like tea or coffee?
. “Where is he now?” “He ___ (to play) football, as usual”.

6. Look! Peter ____ (to swim) in the lake.

7. Jane wasn’t at home when I (to go) to see her. She
(to work) in the garden.

8. They (to clean) the carpet when they _____ (to find) the ear-
ring.

9. He (to meet) Sarah at the birthday party. She ____ (to wear)
a white dress.

10. When I _____ (to cross) the street, I ____ (to think) there were no
cars.

11.1____ (to come) at 6 o’clock tomorrow. - Good, I ____ (to wait) for
yOu.

12. This time next month I ____ (to sit) on a beach.

13. You look frozen. Sit down by the fire and I ___ (to make) you a cup
of tea.

14. Don'’t ring her up at 9, she ____ (to put) her children to bed. Ring
up later.

15. My brother ____ (to prepare) for his exam when I return.

U1l b W IN = O

Task 7B. Read the text below. For gaps (1-10) choose the correct
answer (4, B, C, D). Write your answers in the spaces.

[ (0) D_this letter to thank you for the beautiful birthday present. It (1)
___avery nice camera. I (2) __ it very often. How (3) __ 7 (4) __ hard every
day? I (5) __ everything (6) __ alright.

My daughter (7) __ forward to visiting you during her holidays. Now
she (8) __ an interesting book. And my son (9) __ at the report. He (10) __
for his Geography lesson.
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0 |Awas B write C wrote D am writing
writing

1 |Ais B was Care D were

2 | Aused B use C am using D uses

3 | Adidyou get | Bdoyougeton | Care you getting | D will you get on
on on

4 | ADoyou B Are you C Will you work | D Were you
work working working

5 | Ahoped B hopes C am hoping D hope

6 | Awent B is going C are going D will go

7 | Alooked B was looking | Cislooking D will look

8 | Aisreading |Bread C was reading D will read

9 | Aworked B will be C work D is working

working

10 | Awas B is preparing | C prepared D will prepare

preparing
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Verbs. Perfect Tenses

Task 8A. Read the sentences below. Complete the sentences with
the correct form in brackets. Write your answers in the spaces.

0. Kate like travelling. She has visited (to visit) many countries.

1.What _____ (to happen) you?

2. We ___ (just to return) from our holiday. We ___ (to stay) at a good
hotel.

3. They ____ (never to buy) new cars.

4. Ann ___ (to take) a lot of nice photographs lately. But last weekend
she _____ (to take) very few.

5.1 (to write) two letters to Jane this month. But last month I
(not to write) any.
6. These people (to wait) for you for 2 hours.

7. The Headmaster says he ____ (to think) aboutitbuthe ____ (notto
decide) yet.

8.l wonder what they ____ (to discuss) since 9 a.m.

9. The children ____ (to play) in the garden since it stopped raining.

10.1____ (to watch) my favourite TV program for half an hour.

11.We _____ (to walk) ten kilometers already.

12. We are very tired. We (to walk) for three hours.

13.I'mondiet.1 ____ (to eat) nothing but fruit for the whole week.

14.He ____ (justto eat) two big sandwiches and chocolate ice-cream.

15. The child ___ (to sleep) since three o’clock. It's time he woke up.

Task 8B. Read the sentences below. For gaps (1-10) choose the
correct answer (A, B, C, D). Write your answers in the spaces.

0. The pupils C the exercises yet.

1.  toIndia?

2.Ifyou ____that film before, I advise you to see it.

3. They _____each other for 3 years before they got married.

4. Her letter was a wonderful surprise.I _____ to getit.

5. The workers painting the floor when I arrived.

6. Our family ___ in that house for five years when we had to move to
another city.

7. By the time the war began the company ____ clothes for five years.

8.1 ___reading this book by tomorrow evening.

9. By next winter we _____the necessary sum of money.

10.1___ the article an hour before you come.
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0 |Adidn’tfinish B don’t finish C haven't D hasn’t
finished finished
1 | AWereyouever | BHaveyouever |CAreyouever |DIsyou
been ever
2 | Awon’t see B don'’t see C didn’t see D haven’t
seen
3 | Ahad known B have known C knew D know
4 | A expected B don’t expect C hadn't D expect
expected
5 | Afinish B finished C will finish D had
finished
6 | Awasliving B had been living | Clived D have been
living
7 | Ahad been B has been C was Dis
producing producing producing producing
8 | A have finished | B finish C will finish D will have
finished
9 | Awill save B are saving C will have D save
saved
10 | A have B will have C translate D will
translated translated translate
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Verbs. Active Voice

Task 9A. Read the sentences below. For sentences (1-14) choose

the correct answer (A, B, C, D). Write your answers in the spaces.

0. I'm busy at the moment. I C on the computer.
1. My friend ___ the answer to the question.

2. 1think I'll buy these shoes. They __ really well.
3. Where ___ the car?
4. At nine o’clock yesterday morning we ___ for the bus.
5. When I looked round the door, the baby ___ quietly.
6. Here’s my report. [ ____itatlast.
7.1've __made some coffee. It’s in the kitchen.
8. We ___to Ireland for our holidays last year.

9. Robert ___ill for three weeks. He's still in hospital.

10. My arms are aching now because I ___ since two o’clock.
11.'m very tired. I ___ over four hundred miles today.

12. When Martin ___ the car, he took it out for a drive.

13.Janet was out of breath because she __.
14. Don’t worry. I __be here to help you.

0 |Awork B am work C am working | D working

1 | Aisknow B know C knowing D knows

2 | Afit B have fit C are fitting D were fitting

3 | Adid you park B did you C parked you | D you parked

parked

4 | Await B waiting C was waiting | D were waiting

5 |Aissleeping B slept C was sleeping | D were sleeping

6 | Afinish B finished C am finished | D have finished

7 | Aever B just C never D yet

8 | Agoes B going C have gone D went

9 | Ahad been B has been Cis D was

10 | Aam swimming | B swam C swim D have been
swimming

11 | Adrive B am driving | C have been D have driven

driving
12 | A had repaired B has repaired | C repaired D was repairing
13 | Ahad been B did run C has been D has run
running running
14 | Anot B shall C willn’t D won’t
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Task 9B. Read the conversation below. Complete the sentences
with the correct form of the words in brackets. Write your answers in
the spaces.

0. A:Is]anetin, please?
B: Yes, but I think (to think) she’s busy at the moment. She is
washing (to wash) her hair.

1. A:1____ (tothink) of buying a new computer.

B: But computers _____ (to cost) so much money. What’s wrong
with the one we’ve got?

A: Tt ____ (to get) out of date.
2. A: Your new trousers (to look) nice.

B: Thank you. The trouble is they (not to fit) properly. I

(not to know) why I bought them, really.
3.  A: What are you doing?

B: 1 (to weigh) this letter. I ____ (need to know) how
many stamps to put on it.
4.  A:1___ (to think) this road is really dangerous. Look how fast

that lorry (to go).

B: 1 (to agree). People shouldn’t go so fast.

5. A:1 (to like) musicals. And this is a great show, isn't it?
you (to enjoy) it?
B: Yes, I am. | (to love) every minute of it.

6.  A:Ilalways (to fall) asleep. I just can’t keep awake.

B: Whattime ____you____ (to go) to bed?

A: About ten o’clock usually. But it (not to make) any
difference.
7. A: Could you post the goods to me, please?

B: Yes, certainly.

A:1____ (tolive) at a guest house at the momentas[____ (to
look) for a flat. So could you send it to my work address?

B: Yes, of course. And you’ll have the goods by the end of the
week, | ____ (to promise).
8. A:Why you (to want) to change the whole plan?

B: I am just not happy with it.

A: And 1 (not to understand) why you ____ (to be) so
difficult about it.
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Task 9C. Read the text below. For gaps (1-15) choose the correct
answer (A, B, C, D). Write your answers in the spaces.

It was a fine day (0) A I started out on the last part of my walk around

the coast of Britain. The sun (1) ___ , and a light wind (2) ____ from the
south-west. It was pleased that it (3) ____. [ knew by now thatI (4) _____
rain. In factI (5) _____it.
[ (6) along the cliff top and then down into the lovely little fishing
village of Wellburn, past a café where people (7) _____ morning coffee.
Three miles past Wellburn 1 (8) ____ down for five minutes and (9) a
drink. Now it (10) __ warmer, so 1 (11) ____ one of my sweaters. [ (12)
__ for long because I (13) _____ to reach Seabury by lunch-time. (14)
___Ifinally got there, it (15) just after half past twelve.

0 A when B if C that D which

1 A is shining B shines C shone D was shining

2 A blew B was blowing | C blows D is blowing

3 A didn’t rain B rained C wasn’t D was raining

raining

4 A didn’t like B don't like C wasn’tliking | D hasn’t liked

5 A has hated B hated C hates D was hating

6 A walk B am walking | C has walked D walked

7 A have B are having | Cwere having | D have had

8 A sit B sat C was sitting D set

9 A had B have C was having D have had

10 | Ais getting B got C has got D was getting

11 | Adressed B took off C wore D put on

12 | Adon’tstop B stopped C didn’t stop D stop

13 | A wanted B want C was wanting | D have wanted

14 |AIf B When C As soon D While

15 | Ahasbeen B had been Cis D was

Task 9D. Read the conversation below. Complete the sentences
with the correct form of the words in brackets. Write your answers in
the spaces.

Tessa: Hello, Robert. I (0) haven’t seen (not to see) you for ages.

Robert: Hello, Tessa. Great to see you. What (1) __ you ____ (to do)
lately?

Tessa: I (2) ____ (just to start) a new job in computer software.

Robert: You (3) _____ (to work) for Tuffex Plastics when we last met.
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Tessa: That's right. I (4) ____ (not to work) there long before I got fed
up. I (5) ____ (not to realize) what a horrible job it would be. But what
about you? (6) you (to find) a job?

Robert: Well, six months ago 1 (7) (to work) for a car hire
company, but then they (8) (to go) bankrupt. So I'm out of work now.
(9) (to look) around for another job.

Tessa: Well, I'm sure you'll find one soon.
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Passive Voice

Task 10A. Read the sentences below. For sentences (1-10) choose

the correct answer (A, B, C, D). Write your answers in the spaces.

0. We can’t go along here because the road is B.
1. The story I've just read ___ Agatha Christie.
2. Some films starts __ be difficult to work with.
3.lintend to go outand ___.
4. Football ___ at this stadium.
5. This accident __.
6.She ____in the library every day.
7. Last month the delegation ___ by the Minister of Foreign Trade.
8. My father __ next month.
9.1 must go.1__ for now.
10. The girl said that paper __ in China long time before.
0 |Abeen B being C repair D repaired
repaired repaired
1 | Awaswritten | B was written | Cwas written | D wrote
by from
2 | Aare said B are said to C say D say to
3 |Ahavecutmy |Bhavemy C let my hair D my hair be
hair hair cut cut cut
4 | Aplays B is been Cis played D had played
played
5 | Awassaid B much spoke | Cwas spoken | D was much
by spoken about
6 | Aisseen B is being Csee D will see
seen
7 | Aheads B was headed | Cis headed D headed
8 | Awill be being | B will been C will be D will operate
operated on operated operated on on
9 | Await B am waited C am waiting D am being
waited
10 | Aisinvented B had been C was invented | D would be
invented invented
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Task 10B. Read the text below. For gaps (1-10) choose the correct
answer (A, B, C or D). Write your answers in the spaces.

During periods of terrorist activity by the IRA, people in Britain (0) D
to look out for bombs. Any bag or parcel without an owner (1) ___ as a risk
to the public. Some time ago a cardboard box (2) ___ at the entrance to
Bristol Zoo one day. It (3) ___ by a visitor and reported to the director.
Clearly, if it was a bomb and it went off, people (4) ____. So army bomb
experts (5) ___, and the box was safely blown up in controlled explosion.
Soon afterwards it (6) ____ that the box (7) ____ there by a boy wanting to
find a new home for his pet rat. He was tired of the rat, he (8) ___, but he
was unwilling to have it put to sleep by a vet, so he left it in a box outside
the zoo. The director of the zoo (9) _____ to be unenthusiastic about looking
after people’s unwanted pets. No one knows what the rat thought about

(10) .

0 | Awarn B are warning | C warned D are always
being warned

1 | Aisseen B sees C was seen D are seen

2 | Afinds B is found C was found D will be found

3 | Ahasbeen B was noticed | C noticed D notices

noticed
4 | Amightkill B are killed C might be D have been
killed killed
5 | Ahave called in | B have been C called in D were called in
called in

6 | Awasreported | B reported Cis reported D was being
reported

7 | Ahad left B had been C was left D left

left

8 | Aisexplained |B explains C explained D was
explained

9 | Athought B thinks C will be D is thought

thought
10 | Abeing blown | B blown up C was blown up | D had blown up
up
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Task 10C. Read the sentences below. Complete the sentences with
the correct form of the words in brackets. Write your answers in the
spaces.

0. Heat and light are given (to give) to us by the sun.
1.He ____ (toinvite) to come to France next year.

2. The film ____ (to speak much) about.

3. The book ____ (often to refer) to.

4.1_____ (notto tell) about your decision yesterday.

5. The house _____ (to destroy) by the fire last year.

6. The boy (to laugh at) two days ago.

7. An interesting book ____ (to give) to me the day before yesterday.
8. My paintings _____ (to exhibit) at the Picture Gallery next year.

9. The child (to take) to the circus in a week.

10. Tomorrow the door (to keep) shut.

11. The problem (to discuss) now.

12. The other students (to examine) at the moment.

13. When he entered we (to show) the pictures of New-York.
14. The tickets were (to sell) when I came in.

15. The chance (to give) to him this week.

16. This article (just to refer to).

17. His film (to show) recently.

18. This story _____ (to write) by 1937.

19. The doctor (to send for) before I came.

20. The game (to stop) before it starts raining hard.
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Sequence of tenses. Indirect speech

Task 11A. Read the sentences below. For sentences (1-12) choose
the correct answer (A, B, C, D). Write your answers in the spaces.

0. What did that man say C?

1. Someone ___ the tickets were free.

2. Last week Justin said to Till, “I'll do it tomorrow”. He said he would
doit___.

3. I don’t know why Nancy didn’t go to the meeting. She said she ___
definitely going.

4. The librarian asked us ___ so much noise.

5. 1 rang my friend in Australia yesterday, and she said it __ raining
there.

6. The last time I saw Jonathan, he looked very relaxed. He explained
that he’d been on holiday the ____ week.

7.1wonder ___ the tickets are on sale yet.

8.1told you __ switch off the computer, didn’t I?

9. Someone __ me there had been an accident on the motorway.

10. When I rang Tessa some time last week, she said she was busy __

day.
11. When he was at Oliver’s flat yesterday, Martin asked if he ___ use
the phone.
12.Judy ____ going for a walk, but no one else wanted to.
0 |Aatyou B for you C to you D you
1 | Asaid me B said me that | C told me D told to me
2 | Athe following | B the previous | C tomorrow D yesterday
day day
3 |Abe B is C was D would
4 | A don’t make B not make C not making D not to make
5 |Ais B should be C to be D was
6 | Aearlier B following C next D previous
7 | Awhat B whether C where D when
8 |Adon’t B not C notto D to not
9 | Aasked B said C spoke D told
10 | Athat B the C then D this
11 |Acan B could C may D must
12 | A admitted B offered C promised D suggested

64



Task 11B. Read the text below. For gaps (1-10) choose the correct
answer (A, B, C or D). Write your answers in the spaces.

The police have warned people to watch out for two men who (0) B
their way into an old woman’s home and stolen money. The men called on
Mrs Iris Raine and said they (1) ___ from the water company and wanted to
check (2) ___ her water was OK. They asked if she (3) ___letting them into
her house. The woman didn’t ask (4) ____ their identity. She said she (5) ___
about any problem with the water. The men explained that they (6) ____ the
problem but that it was very simple and (7) _____long to check. The woman
asked if the service (8) ____ free, and they said yes. They wanted to know
where the water tank was. While one man ran water in the kitchen, the
other (9) _____ upstairs and took several hundred pounds from a drawer in
a bedroom. The men then left saying that they (10) ____ the following day
to have another look.

0 | A had tricked B have tricked | C tricked D were tricked

1 |Aare B have been C had been D were

2 | Awhat B for C whether D as soon

3 | Awould mind | Bwouldn’t C don’t mind D didn’t mind
mind

4 | Aseeing B see C to see D to seeing

5 |Adidn'tknow | B doesn’t C wouldn't D hasn’t known
know know

6 | Ajustdiscover | B had just C have just D were just
discovered discovered discovered

7 | Ahadn’'ttaken | B took C won'’t take D wouldn’t take

8 | Awill be Bis C was D has been

9 |Awent B goes C had gone D is going

10 | A will return B would C returned D return
return

Task 11C. Read the sentences below. Complete the sentences with
the correct form of the words in brackets. Write your answers in the
spaces.

0. I was glad that he had received (to receive) a letter from her two
days before.

1. Yesterday the mother (to ask) her little son if he (to be
sorry) for what he (to do).

2. Last week his wife (to promise) to write to him as soon as she
___ (can).
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3. Her mother says she (to forget) to take her sandwiches.

4. His father said his son (have to) work harder next term.

5. The clerk said the ticket _____ (to cost) five pounds two years
before.

6.1 was sure that they (to be) glad to see you the next year.

7. We knew that she ____ (to live) in Paris before.

8. I thought that the Browns often _____ (to receive) letters from their
daughter.

9.1 was sure that he (to work), and so I didn’t go into the room.

10. I think that they (to come) to an agreement.
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Task 12A. Read the sentences below. For sentences (1-14) choose

Modal Verbs

the correct answer (A, B, C, D). Write your answers in the spaces.

mess.

0..A I have some more tea, please?

1. The chemist’s was open, so luckily I __ buy some aspirin.
2. Susan has to work very hard. I ___do her job, I'm sure.

3. We had a party last night. I ___ spend all morning clearing up the

4. There was no one else at the box office. I __in a queue.
5. ___ I carry that bag for you? - Oh, thank you.
6. 've lost the key. I ought ____itin a safe place.
7. Everyone’s asleep. You __ make a noise.

8. __you like to go for a ride with us?

9. wonder if this is the right way. It __ not be.
10. I don’t think I want to see this film. - Oh, I think you __.

11. I'm quite happy to walk. You ___ drive me home.

12. I show you the way? - No, you needn’t
13. It’s late. I think you better go home.
14. We all tried to push the van, but it move.

0 |ACould B Shall C Will D Would

1 |Acan B can’t C did can D was able to

2 |Acan’t B couldn’t Cdon't D shouldn’t

3 | Amusthave B have been to | C have had to D have must

4 | Adidn’tneed to | B mustn’t wait | C needn’t have | D needn’t wait
wait waited

5 |ADo B Shall C wWill D Would

6 | Athatlput B to be putting | C to have put D to put

7 | Acouldn’t B mustn’t C needn’t D wouldn’t

8 |ADo B Should C Will D Would

9 |Acan B could C might D must

10 | Acan B shall C will D would

11 | Adon’t B haven’t C mustn’t D needn’t

12 | ADo B Shall C Will D Would

13 | Ahad B have C should D would

14 | Acan’t B couldn’t Cwon't D wouldn’t
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Infinitive. Ing-Form

Task 13A. Read the sentences below. For sentences (1-9) choose
the correct answer (A, B, C, D). Write your answers in the spaces.

0. The driver was arrested for failing D an accident.

1. Someone suggested ___ for a walk.

2.1 can remember ___voices in the middle of the night.
3. The police want ___ anything suspicious.

4. We weren'’t sure ___ or just walk in.

5. It was too cold ___ outside.

6. Did you congratulate Tessa ___ her exam?
7.1didn’t like it in the city at first. But now __ here.

8. The raised the money simply ___ for it. [t was easy.
9. As we walked past, we saw Nigel __ his car.

0 | Aofreport B report C reporting D to report

1 |Ago B going C of going D to go

2 | Ahear B heard C hearing D to hear

3 | Athatwereport | B usreporting | C us to report D we report

4 | A should knock | B to knock C whether knock | D whether to

knock

5 | A for the guests | B for the C that the guests | D that the
eating guests to eat | should eat guests eat

6 | A of passing B on passing | C passing D to pass

7 | Algotused to BI'musedto |Clused tolive D I used to
living living living

8 | A asking B by asking C of asking D with asking

9 | Ain washing B to wash C wash D washing

Task 13B. Read the text below. For gaps (1-15) choose the correct
answer (A, B, C or D). Write your answers in the spaces.

Are you fed up with (0) A_a failure in your job? Wouldn’t you rather
(1) __? Do you want to earn more money? Are you anxious (2) ____ ahead?
Do you believe (3) ____ the most of your talents? Do you sometimes dream
(4) ___ the top? If the answer is yes, read on. Just imagine yourself (5)
_____a big successful company. And now you can do something about it
instead (6) ____. It'll happen if you want it (7) ___. Make it a reality (8)

your copy of the best-selling “Winning in Business”. It has a ten-point
plan for you (9) ____. Do it and you're certain (10) ____ a success. You'll
know what (11) ____in business. You can make other people (12) _____you
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and persuade them (13) what you want. Experts recommend (14)

this marvelous book. You'd better (15) _____ your copy today.
0 | Abeing B be C to be D have been
1 | Ahave B succeeding | C succeed D to succeed
succeeded
2 | Aget B to get C by getting D having got
3 | Amake B to making C of making D in making
4 | Aabout B of reach C reach D on reaching
reaching
5 |Atorun B run C running D having run
6 |Atodream B of dreaming | C having D dream
dreamt
7 | Ahappen B having C happening D to happen
happened
8 | Ahaving B order C by ordering | D in order
ordered
9 | Ato follow B follow C following D to following
10 | A being B to be Cbe D having been
11 | Adoing B do C to doing D to do
12 | Arespect B to respect C having D respecting
respected
13 | Aondoing B to do C on doing D do
14 | Abuy B having C buying D to buying
bought
15 | Ato order B ordering C having D order
ordered

Task 13C. Read the sentences below. Complete the sentences with

the correct form of the words in brackets. Write your answers in the
spaces.

0. 'm not pleased with doing (to do) this useless work.

1. What was in the letter? - I don’t know. I did not want ____ (to
open) it as it wasn’t addressed to me.

2. 1 can hear the bell ___ (to ring) but nobody seems ____ (to
come) ____ (to open) the door.

3. Please, go on ___ (to write), [ don’t mind ___ (to wait).
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4. Most people prefer (to spend) money to (to earn) it.
5. Did you advise him (to go) to the police? - No, I didn’t like
(to give) any advice on such a difficult matter.

6.It'snouse ____ (to write) to him, he never answers letters. The only
thing__ (todo)is____ (togo)and ___ (to see) him.

7. Ask him _____ (to come) in. Don’t keep him ____ (to stand) at the
door.

8.ladviseyou ____ (tostart) ____ (tolook) for a flat at once.

9.He tried ___ (to explain) but she didn’t want __ (to listen).

10. I'm looking forward to _____ (to see) you.
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Conditionals

Task 14 A. Read the sentences below. For sentences (1-10) choose
the correct answer (A, B, C, D). Write your answers in the spaces.

0.  A:There's always something going wrong with this car.
B: If you had any sense? You'd B it long ago.

1.If ___ my passport, I'll be in trouble.

2.1 haven’t got a ticket. If ___one, I could get in.

3. If the bus to the airport hadn’t been so late, we ___ the plane.

4. If only people ___ keep sending me bills!

5. It’'s a pity the lake wasn’t frozen yesterday. - Yes, it is. If it __
frozen, we could have gone skating.

6. Haven’t you got enough money for a holiday? - Oh yes. I've got
some saved up ___ [ suddenly need it.

7. What are you going to do next year? -  wish I __ the answer to that
question.

8. These figures are too complicated to work out in your head. - Yes, if
___we had a calculator.

9. What are you doing later this afternoon? - Oh ___ the game finishes,
I'll go home, I expect.

10. Do you think I should take the job? — You shouldn’t do anything ___
you think it’s the right thing to do.

0 | Abeselling B have sold C sell D sold

1 |Allose B I'll lose CIlost D I would lose

2 | ATl'd have B I had C I have D I've got

3 | A caught B had caught | Cwould catch | D would have
caught

4 | Adon’t B shouldn’t C weren't D wouldn’t

5 | A had been B was C would be D would have
been

6 |[Aif B in case C that D unless

7 | AKknew B know C could know D would know

8 | A better B only C really D that

9 |Aif B in case C unless D when

10 | Aif B in case C unless D when
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Task 14 B. Read the sentences below. Complete the sentences with
the correct form of the words in brackets. Write your answers in the
spaces.

0. If the weather isn’t (not to be) bad tomorrow we will go (to go) to
the country.

1. The grandchildren (to miss) you if you ___ (to move) to
another town.
2. Mary (to be) sorry if John ____ (not to come) to her birthday

party.
3. Could you __ (to give) me some money if my friends and I ___ (to go)
out tonight.

4.1f1 _____ (to know) his address now, I __ (to go) round and see him.

5.Itis necessary thathe _____ (to buy) winter clothes.

6. What ___you___ (to do) ifyou __ (to win) the competition?

7. The teacher demands that pupils ____ (not to be) late for classes.

8. If you ____ (not to spend) so much time on your chatting
yesterday, we ____ (not to be) late for the performance.

9.If1__ (tobe)you,I____ (touse)acomputer.

10. If he (to have) the keys last night, he __ (to unlock) the

door himself.
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Prepositions

Task 15A. Read the sentences below. For sentences (1-10) choose

the correct answer (A, B, C, D). Write your answers in the spaces.

idea.

0.1 saw a really funny programme D television.

1. The village is ____ Sheffield. It’s only six miles away.

2.You can see the details ____ the computer screen.

3.I've gotameeting ____ Thursday afternoon.

4. We've lived in this flat _____ five years.

5.Thiscaris____ifyou're interested in buying it.

6. Polly wants to cycle round the world. She’s really keen ____ the

7. Could you let me know _____ Friday at the latest?
8. The audience clapped the end of the show.
9.T'velived here ____last year.

10. What's the matter ____ your car?

11. We could see the balloon high _____ the town.
12. There was a fall ___ten per cent in prices.

13. The house was burgled ____ we were out.

14. What's the difference a boat and a ship?
15. Rupert’s new car looks more _____an airplane.
16. We're all bored ______ this game.

17.1can’t find my keys. | had them a minute ___.
18. We get lots of requests _____help.

19. The babysitter will stay there _____ we get home.
20.I'm going to be late _____ the meeting.

21. We do most of our business _ summer.
22.Thejobis similar _____ my old one.

73



0 |Aat B from Cin D on

1 | Aalong B by C near D next
2 |Aat B by Cin D on

3 |Aat Bin Con D to

4 | Aago B already C for D since
5 | Aforsale Bin sale C on sale D to sell
6 | Aabout B for Con D with
7 | Aby B to Cupto D until
8 |Aat B for Cin D to

9 | Aafter B by C for D since
10 | Aby B for Con D with
11 | Aabove B on C onto D up

12 |Aat B by Cin D of

13 |Aat B during C time D while
14 | A between B from C under D with
15 |Aas B like C near D similar
16 | A about B at C for D with
17 | Aago B before C behind D back
18 |Aat B for C of D on
19 | Aby B for Cto D until
20 |Aat B for Cin D to

21 | Aalong B at Cin D on
22 |Aas B at Cto D with
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Questions. Negatives. Answers

Task 16A. Read the sentences below. For sentences (1-6) choose

the correct answer (A, B, C, D). Write your answers in the spaces.

0. What's the weather like in Canada? How often A there?

1. Which team ___ the game?

2. What did you leave the meeting early ? - 1 didn’t feel very well.
3. Unfortunately the driver the red light.

4.You haven't eaten your pudding. ______ it?

5. 1really enjoyed the disco. It was great, _____ ?

6. Are we going the right way? - I think .

0 | Adoesitsnow |Bdoesit C snow it D snows it
SNOWS

1 | Adiditwin B did they win | C won D won it

2 | Aaway B because C for D like

3 | Adidn’t saw B didn’t see C no saw D saw not

4 | AAreyouno B Do you no C Don’t want D Don’t you
want want you want

5 |Aisit Bisn'tit Cwasit D wasn’t it

6 | Aindeed B it Cso D yes

Task 16B. Read the text below. For gaps (1-12) choose the correct

answer (4, B, C or D). Write your answers in the spaces.

Judy: (0) B we go to the party tonight?

Lisa: (1) ____ giving a party?

Judy: Susan. You know her, (2) ___ you?

Lisa:I'm (3) ___ sure. Has she got long dark hair?

Judy: Yes, she (4) . And she’s quite tall. (5) _____ you spoken to
her?

Lisa: No, I don’t think (6) . But [ know who you mean. There are
two sisters, Susan and Janet.

They’re twins, aren’t (7) __?

Judy: Yes, that’s right.

Lisa: (8) one is Susan?

Judy: Oh,1(9) ____ know. They both look the same. I can’t always tell
them apart.

Lisa: No, (10) ____ can I. In any case, | haven’t been invited to the
party.

Judy: That (11) matter.
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Lisa: OK. (12) go to it then, shall we?

0 |ADo B Shall C Would
1 | AWhat’s B Who's C Whose
2 |Adon’t B know Cso

3 |Aisn’t B no C not

4 | Agot B has Cso

5 | AHaven’t B Having C Not

6 |Ait B neither Cso

7 |Ait B not C they

8 | AWhat B Which C Who

9 |Adon't B no C not

10 | A neither B not Cso

11 | Adoesn’t Bisn't C not

12 | A Could B Let’s C Shall
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to be

to become

to begin
to blow
to break
to bring
to build
to burn
to buy
to catch
to choose
to come
to cost
to cut

to deal
to dig
to do

to draw
to drink
to drive
to eat

to fall
feel

to fight
to find
to forbid
to forget
to forgive
to freeze
to get

to give
to go

to grow
to hang
to have
to hear
to hide
to hold

was / were

became
began
blew
broke
brought
built
burnt
bought
caught
chose
came
cost
cut
dealt
dug
did
drew
drank
drove
ate

fell
felt
fought
found
forbade
forgot
forgave
froze
got
gave
went
grew
hung
had
heard
hid
held

IRREGULAR VERBS

been
become
begun
blown
broken
brought
built
burnt
bought
caught
chosen
come
cost

cut
dealt
dug
done
drawn
drunk
driven
eaten
fallen
felt
fought
found
forbidden
forgotten
forgiven
frozen
got
given
gone
grown
hung
had
heard
hidden (hid)
held

7

oyTH
CTaBaTH
NOYUHATH
AyTH
JlaMaTH
NPUHOCHUTHU
oynyBaTu
ropitu
KylyBaTH
JIOBUTH
BUOUpATHU
NPUXOAUTH
KOLITYBAaTH
pisaTu
MaTH CIpaBy
KOMaTH
pooGUTH
MaJIlBaTHU
UTH
KepyBaTH
icTH
naziaTu
BilUyBaTHU
6opoTHcs
3HAXOAUTHU
3a00pOHSATH
3abyBaTH
BUOaYaTH
3aMep3aTH
OTPUMYBaTHU
JlaBaTH

ITH

poctu
BUCITHU
MaTH
C/IyXaTH
XOBaTHUCA
TpUMaATH



to hurt

to keep
to know
to lead
to learn
to leave
to let

to light
to lose
to make
to mean
to meet
to pay
to put
to read
to ring
to rise
torun
to say
to see
to sell
to send
to set

to shake
to shine
to shoot
to show
to sing
to sit

to sleep
to smell
to speak
to spend
to spread
to stand
to steal
to strike
to swear
to sweep
to swim
to take

hurt

kept
knew
led
learnt
left
let

lit (lighted)
lost
made
meant
met
paid
put
read
rang
rose
ran
said
saw
sold
sent
set
shook
shone
shot
showed
sang
sat
slept
smelt
spoke
spent
spread
stood
stole
struck
swore
swept
swam
took
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hurt

kept
known
led
learnt
left
let

lit (lighted)
lost
made
meant
met
paid
put
read
rung
risen
run
said
seen
sold
sent
set
shaken
shone
shot
shown
sung
sat
slept
smelt
spoken
spent
spread
stood
stolen
struck
sworn
swept
swum
taken

IKOJUTH,
00JIITH
36epiraTtu
3HATHU
BECTH
BHBYATHU
3aJIMIIaTHU
JI03BOJISITU
3ana/iloBaTH
ryouTH
pobuTH
O3Ha4yaTH
3ycTpiyaTu
IJIATUTHU
KJIaCTH
YUTATHU
JI3BOHUTH
migHIMaTUCA
oirTu
Ka3aTH
0auuTHU
NpoJilaBaTHU
MOCUJIAaTH
BCTAHOBJIOBATHU
TPACTH
CAATHU
CTPiJIATH
NIOKa3yBaTH
criBaTH
CUJITH
CraTu

MaTH 3anax
TOBOPHUTH
NPOBOJUTHU
MOIIMPIOBATUCS
CTOSITHU
KpacTH
OUTH, yIAaPUTHU
KJISICTHCS
nigMitTatu
nJiaBaTHU
opaTu



to teach

to tell

to think

to throw

to understand
to wake

to wear

to win

to write

taught

told
thought
threw
understood
woke

wore

won

wrote
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taught

told
thought
thrown
understood
woken
worn

won
written

HaB4YaTU
po3mnoBiaTu
AyMaTHu
KUJaTHU
pO3yMiTH
NPOKUAATUCA
HOCUTH
nepeMaraTu
UcaTu



REFERENCES

1. AHrjiiicbka MoBa /i1 NpaBHUKIB: migpy4yHuk English for Lawyers.
[lnsg  CTyjaeHTIB  OpUAWYHHUX  cheliasbHocTe /  Ap3sHnena H. 1,
anpamamyxk JI. B, ['ymenuyk O. €., Kiuirin B. O,, Mousotam C. M.,
Haropna 0.0., [Ilerpymko A.A. - XMeJbHUIIbKUW: XMeJbHUIIbKUHU
YHIBEpCUTET ylpaBJiHHA Ta npaBa, 2011. - 290 c.

2. TlocibHMK 3 aHIJiACbKOI MOBU /Il CTYAEHTiB-IOpUCTIB /
B.II. Cumonwk, T.I. Koctioyenko, T.B.OusitiHuk, T.M. ®omMeHKoO,
JI. 0. llnmkina ; 3a 3ar. pex. npod. B. I1. CimoHok. — X.: [IpaBo, 2005. - 264 c.

3. English for Law: Build Your Vocabulary (Part I): Aurailicbka MoBa
JUISl IOPUCTIB: mobyayu cBid caoBHUK (YactuHa [): MeToauyHI BKa3iBKHU
Jis1 camocTiiHol pobotu / Ykaag. C. B. lopaa. - Cymu, 2004. - 24 c.

4. English for Law: Build Your Vocabulary: Part II: Metoauuni
BKa3iBKU [Jid NPAaKTUYHHUX 3aHATb Ta CaMOCTiKHOI pob6oTh / VYKiag.
C. B. lopaa. - Cymu: YABC HBY, 2005. - 24 c.

5. English for Lawyers Taking Correspondence Courses. Part I:
AHrnilicbka MoBa JJisl IOPHUCTIB 3a0o4HOi ¢opMM HaByaHHA. YacTuHa 1:
MeToauuHi pekomMeHJauii A/ ayJUTOPHOI Ta CaMOCTiKHOI poboTtu /[
Ykaapg. T. I. llanimoBa. - Cymu: YABC HBY, 2006. - 24 c.

6. English for Lawyers: nigpyd. ass cTyA. BUIL. HaBY. 3akJ. / 3a pej,.
B. II. CimoHoK. - X.: [IpaBo, 2011. - 648 c.

7. Merriam Webster’s Dictionary of Law. - Springfield, 1996. - 634 p.

8. International Legal English. A Course for Classroom or Self-Study
Use. Amy Krois-Lindner and Translegal. - Cambridge: University Press. -
320 p.

9. Ilocionuk panga miaroroBku ao 3HO 3 aHraildcbkoi MOBH [0
Mmarictpatypu. CnenianbHicTb I[lpaBo / 3a 3ar. 80ea.. B.II. CiMoHOK. -
XapkiB: IIpaBo, 2018. - 88 c.

10. JloBromnoJioBa {. B., [Toroxux I'. M. AHriNICbKa MOBa.
Komnnekcaun goBigHuk. — Xapkis: TOPCIHT TIJIKOC, 2012. - 224 c.

11. Cmipkina O. 0., Kpiukep O. I0. [loci6HUK 3 aHTJIiICbKOI MOBU AJisl
ctyaeHTiB-topucTiB (YactuHa II). Yepkacu: YIIb iMmeni 'epoiB YopHobuIa
HYII3 Ykpainy, 2020.-110c.

80



A1 HOTATKIB

81



A1 HOTATKIB

82



Haeuanvne euoannsn

CroipkiHa O. 0., Henbko 10. I1., IBamenko O. A.

MOCIBHUK LIS CAMOCTIMHOI POBOTH 3
AHI'JIIMCBKOI MOBHU 3A NIPO®ECIMHUM
CIIPAMYBAHHAM OBOB’SI3KOBOI 3ATAJIBHOI
MIATOTOBKHU 3A OCBITHBO-ITIPOPECIMHOIO
[IPOTPAMOIO «I[TIPABO» INIITOTOBKU
3/106YBAYIB 3A IIEPIIIUM (FAKAJIABPCbKHM)
PIBHEM BUIIIOI OCBITHU Y T'AJ1Y31 3HAHB 08
«[TPABO» 3A CIIELIIAJIBHICTIO 081 «IIPABO»

HABYAJIbHHH ITOCIFHHK

83



[Tinnmucano no apyky 14.09.2021
OO6n.-Bux. apk. 3,17. Ym. apyk. apk. 5,13.
3amoBneHHs Ne 21.

YITIb im. I'epoiB Yopuoouns HYL3 Ykpainu
Bys1. OHompieHka, 8, M. Yepkacu, 18034

84



